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Which of the following statements regarding National Small Savings Fund (NSSF) is/are correct ?

(A) All small savings collections are credited to the Consolidated Fund of India.

. The transactions under NSSF do not impact the fiscal deficit of the Centre directly.

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following correctly describes the term ‘Unemployment Trap’?

(A) Fall in employment growth despite robust economic growth.

. The situation where unemployed people are unwilling to join the labour force.

(C) The situation where the majority of workers are employed in the low paying unorganised sector.
(D) Thesituation where number of jobs created is less than the number of people entering the job market.
Which of the following is/are the likely implication/s of currency devaluation?

1. The decline in value of the currency in forex markets.

2. Higher export competitiveness

3. Higher inflation

4. Rise in cost of imports.

(A) 1only (B) 1,2 and 4 only

(C) 2 and3only @ 1232044

Which of the following items are procured under the Price Support Scheme?

1. Pulses 2. Horticulture crops 3. Oilseeds 4. Cotton

(A) 1 and4 only (B) 2 and 3 only . 1, 3 and 4 only (D) 1,2,3 and 4
The Swavalamban Pension Scheme for the unorganized workers has been merged with

(A) Pradhan Mantri Jeevan Jyoti Bima Yojana

(B) Pradhan Mantri Ujjwala Yojana

. Atal Pension Yojana

(D) National Family Benefit Scheme

Which of the following statement/s is /are correct regarding Fiscal Responsibility and Budget Management
(FRBM) Act, 2003 ?

(A) The main purpose behind introducing this Act was to reduce and keep the fiscal deficit within fixed limits.
(B) Itis concerned with both fiscal as well as revenue deficit.

@ Both (A) and (B)

(D) Neither (A) nor (B)

Match the column.

1. Fiscal Policy a) Margin Money

2. Credit Policy b) Bank rate

3. Monetary Policy c¢) Tax rate

(A) 1-2,2-¢,3-b @ :1-c2-23-p

@ 1-¢,2-b,3-a M) 1-b,2-a,3-c¢

The recently launched ‘Saubhagya Yojana’ is related to providing

©

electricity (B)  old age pension
employment to youth (D) incentive to intercaste marriages
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Which of the following is the correct sequence in the process of economic integration between different
countries?

(A) Common market-free trade area- economic union —custom union
(B) Free trade area- common market- custom union- economic union
(C) Common market- free trade area- custom union-economic union
. Free trade area- custom union- common market- economic union

In government budget Revenue deficit gets financed by

1. Borrowing 2. Disinvestment 3. Tax Revenue 4. Indirect tax
@ 1:0d20ny (B)  1and4only (C) 3and4only (D) 2 and 4 only
Which of the following has not been the achievement of economic planning in a big way?

(A) Rise in National income (B) Increase in per capita income

(C) Industrialisation . Employment

The Finance Commission makes recommendations to the President in which of the following matters?
(A) Distribution of taxes between the Centre and States

(B) The division of grants in aid and loans

@ Both (A) and (B)

(D) Neither (A) nor (B)

All business units with annual turnover exceeding lakhs have to be registered under GST.
(A) INRS Lakhs (B) INR 20 Lakhs . INR 40 Lakhs (D) INR 50 lakhs

The 14™ Finance Commission has enhanced the share of the States in the central divisible pool of taxes from
the current 32% to

(A)  35% (B)  39% @ 2% D)  50%

In which Five-Year Plan was the objective of ‘Inclusive Growth’ given for the first time ?

(A)  9th Five-Year Plan (B)  10th Five-Year Plan

@ 11t Five-Year Plan (@)  12th Five-Year Plan

Central Government will compensate the loss of State Governments due to GST for years.

A) 3 (B) 4 @ s (D)  No compensation

Which of the following statements are correct regarding the Integrated Child Developement Services
dCDS) ?

1. Improve the nutritional and health status of children in the age group of 0 to 6 years.

2. The scheme covers pregnant and lactating mothers.

3. Only children belonging to the age group of 0 to 2 years are covered

4. ICDS programme was launched in 1975

(A) 1 and4only . 1,2 and 4 only (C) 2,3 and4only (D) 3 and4only

Which among the following schemes provides additional tools/equipment to the economically backward
class community to generate adequate income and self-employment?

. Manav Kalyan Yojana (B)  Manav Vikas Yojana
(C) Manav Rojgar Yojana (D)  Manav Shakti Yojana

Which of the following is NOT correct about economic reforms of 1991 ?
(A) Macroeconomic stabilization through fiscal correction

(B) Trade policy reforms to provide stimulus to exports

(C) Financial sector reforms to improve its performance

. Massive population policy to reduce population explosion

PSP — MASTER] 5 [P.T.O.
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Which of the following is NOT a function of the EXIM Bank of India?

(A) Financing of export and import of goods and services

‘ Inspection of exported goods for quality assurance

(C) Financing of joint ventures in foreign countries

(D) Loans to Indian parties for contributing to share capital of joint ventures abroad

Inflation is described as a regressive form of taxation because
(A) It affects exports and makes imports attractive
(B) Itleads to devaluation of the currency

(C) It may cause recession
It affects the poor and vulnerable sections more

The crude birth rate measures the number of live births during a year per .
(A) 100 of population @ 1000 of population
(C) 10,00,000 of population (D)  None of these

In the context of independent India’s economy, which one of the following was the earliest event to take place?
(A) Nationalization of Insurance companies
B) Nationalization of State Bank of India
8 Enactment of Banking Regulation Act
(D) Introduction of First Five-Year Plan

In which yearly budget, Gu'g‘at introduced Gender budget for the first time?

(A) 2005-06 2014-15 (C) 2015-16 D) 2016-17
In private banking percent Foreign Direct Investment (FDI) has been allowed.
(A) 100 (B) 49 @ - D) 26

Which of the following statements is correct regarding to GST?
(A) The task force under the chairmanship of Vijay Kelkar paved the way for implementing GST
(B)  GST has replaced all indirect taxes.
Both (A) and (B)
(D) Neither (A) nor (B)
Uruguay Round of negotiations are concerned with which among the following?

A)  Tariff Measures (B)  Non-Tariff Measures
Both (A) and (B) (D)  Neither (A) nor (B)

The banks are required to maintain a certain ratio between their cash on hand and total assets, this is
called

(A) CLR (central liquid reserve) . SLR (statutory liquidity ratio)
(C) SBR (statutory bank ratio) (D)  CBR (central bank reserve)
The temporary tax levied to obtain additional revenue is called .
(A) Cess (B)  Penalty
Surcharge (D)  None of the above
Which is the biggest item of government expenditure in Budget 2019-20?
(A) Loan repayment (B)  Defence expenditure
(C) Expenditure on central plans . Share of the states in taxes and fees

Which of the statements is / are NOT correct in context of doubling the farmers’ income objective?
1) The target year is 2022-23

2) It is real income which is to be doubled

3) Income from cultivation alone is to be doubled

4) Diversification of agriculture is to be promoted to achieve this objective

A) 1,3 and 4 only (B) 2 and4 only

8 3 only (D) 1and3only
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The twin deficit problem means a country having .
. High fiscal deficit and high current account deficit
(B) High fiscal deficit and high revenue deficit

(C) High fiscal deficit and high governance deficit

(D) High fiscal deficit and high primary deficit

In India, NABARD does not provide refinance to

1. Scheduled commercial banks

2. Regional rural banks

3. Export-import bank

4. State land development banks

(A) 1,2 and 3 only (B) 2,3 and 4 only
@ oy (D) 1,2,3and4

Which of the following statements is/are correct regarding Government of India’s Sagarmala initiative?

1. The initiative aims at promoting port-led development by harnessing the country’s 7, 500-km-long
coastline, 14,500 km of potentially navigable waterways and strategic locations on key international
maritime trade routes.

2. Sagarmala Development Company (SDC) will provide equity support for projects identified under
Sagarmala programme.

3. The implementation of the Sagarmala projects is done solely by the Ministry of Shipping.
(A) 1,2and3 (B) 1 only
. 1 and 2 only (D) 2 and 3 only

The ongoing ‘Aadhaar’ scheme of India is based on the recommendations of the Planning Commission
for

(A) Multi-Application Data (B)  Synchronized Data Card
(C) Collateral Smart Card . None of these

What does venture capital mean?
(A) A short-term capital provided to industries
A long-term start-up capital provided to new entrepreneurs
(C) Funds provided to industries at times of incurring losses
(D) Funds provided for replacement and renovation of industries

Match the following in reference to the BPL population in India as projected by the different committees.

(Committee) (BPL Population)

a. Tendulkar Committee 1. 50%

b. NC Saxena Committee 2. 77%

c. Arjun Sen Gupta Committee 3. 37%

@ :3v-1c-2 (B) a-1,b-2,¢-3
(C) a-2,b-3,c-1 M) a-2,b-1,c-3
The problem of international liquidity is related to the non-availability of

(A) Goods and services (B)  Gold and silver

Dollars and other hard currencies (D)  Exportable surplus

Which of the following statements regarding ‘Biodiversity’ are correct?

1. It increases towards the Arctic region

2. It decreases towards the Arctic region

3. It increases towards the Equator

4. It decreases towards the Equator

(A) 1and4only (B) 1and3only
@ ::0d30ny (D) 2 and 4 only
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(© s aui w2 vy aignl 2nva w2l usld (D) “Aar’ 214 “ogn” gl a2 Mg vl usald

AMMgmss22 unRgeuidl $-A323 uS\2ld U% s WE AuRdl Hed Uz 56 © ?
@ (=i ®) suedl © Rara (D) Aol

A\ ) A\

Ry uHIR Blod Has Yol Adi d [ Aldl {ig unig] Glof Has tiqdl. d Sea uHg] 5230 4Aad o 2
a-ll Aauan and sedl ¢ai ?
(A) A, 8200MW  (B) AR, 8500MW  (C) uin,8000Mw @) ©, 9900 MW

2élslellue e A2as 9 & ?

(A) A Hauay-l udlgdlzu s¥ye: 12as 8.

(B)  d Gelsw gL um B3aad Mg s¥wye: 42as 8.
@ »»iEir

D) (A) 6 (B) U4l 1S Al

202421, (DRDO) g Rustom-2 WK g ¢ ?

@ - clovinsui’ af wra(Rd s asq 8.
B)  dlasn dsn-l 2 25 Ruda 9.

©) dlas s 2u8.%.8. 8.

D)  dlas dsn-l yuilis awdledl saudl (surface to air) Muda 8.
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040.

041.

042.

043.

044.

045.

046.

047.

048.

049.

050.

051.

Remote sensing is all about acquiring images of Earth surface in different colors. It is however very common
to avoid blue region due to

(A) Shorter wavelength (B)  Confusion with water

Large Scattering effect (D)  None of the above
Chandrayaan-2, the successor to Chandrayaan-1, mission to moon, shall comprise
(A) An orbiter spacecraft (B)  An orbiter and a rover

An orbiter with lander and rover (D) A manned orbiter with lander
Mobile towers releases .
(A) B Rays (B) R Rays
(C) X Rays and B rays . Electromagnetic Radiation

Which isotope of Uranium has the capacity to sustain the chain reaction?
(A) U-245 @ uvss (C) U-225 (D) U-230

Recently, India successfully conducted anti-satellite missile test which makes it the world’s
country capable of destroying an enemy satellite in the space.

Fourth (B)  First (C) Third (D)  Fifth

Smoke Signal is .
One of the oldest forms of long-distance communication
(B) Latest technology used in microwave ovens
(C) Options (A) and (B) both are correct
(D) Neither (A) nor (B)

MOOC:s provide .
Best quality e-learning resources to students
(B) Transaction platform to the banks
(C) Purchases of goods in the government offices
(D) Money transfer from the customers to shopkeepers

Infrared and visible satellite images might provide
A way of determining cloud thickness and altitude
(B) A way of distinguishing between wet and dry clouds.
(C) A way of identifying clouds suitable for cloud seeding.
(D) A way of distinguishing between “new” and “old” clouds.

What is the fundamental process used for creating Integrated Circuits from semiconductor substrate?
@ vithography (B)  Photo-patterning (C)  Desilting (D)  Adhesion

Jaitapur Nuclear Power Park would be the world’s largest nuclear power plant once completed. How many
nuclear reactors would it have and what would be their cumulative capacity?

(A) Seven,8200 MW (B)  Four,8500 MW (C) Five,8900 MW (@) six, 9900 MW

What is an Artificial Neural Network?

(A) Itis computer network modelled on human brain

(B) Itis computer network that learns problem solving by example
@ Both (A) and (B)

(D) Neither (A) nor (B)

What is the Rustom-2 programme of DRDO?
It is a Long Endurance UAV (Unmanned Arial Vehicle)
(B) Itis an antitank missile under development
(C) ItisalJT under development
(D) Itis a Supersonic surface to air missile under development.
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052.

053.

054.

055.

056.

057.

058.

059.

060.

USB %24 ..........

(A)  yYRada AqA on B)  yaxda D o

@ yhaia DQua o M) e Aua o

ad 201741 202,424 (DRDO)H “YAl” - MUNTRA (A5 2 a8 i 20w .......... 8.
e :: @) [wn

©) [Fmada D) i

AU 25-llclo [Ba 114 A L A 2 2 i 2ud 6 ?

V)
®)
©
()

WIHREL vitd uRHIR, ulaad Asndyds 1 43 Hird s HIA as8l Rl siua 59,

uiviR vid [Rsa udland asndyds sia a3 curd 2is Wi asN4 Rl siaa sLl.

sl ¢R5121 vid Guas uauRlL A g usndyds sia 4 aud 2is Wil as-E Rl sina s,
sQU2 511 uRHIY WA A2 Argt ulaRn usndds $1a 43l HiRd 215 Wl asN4 Rl siua 59,

suL BuAsA “3Als”’ (Unr) GUASHL 8%% BelRaUML el ?

(A)

w2l B) Han (C) ydl D) Us
DA WS 534 HIRARL AH[Ad A S oLl el ?

HGIAEL GiflA (B)  viedd 6l ©)  [Bwu-oigad 6ifld (D)  eimieR il
Al AL AEIYR, IR vild “HELINA”S ulatal s2aumi 0y, d -l qoig & ?

Hedl 6k 25 @ 2250083 hrusa

R RCTEEAEE ] D) WR &dlsier

©

Qa1 Hln D 2izau sueid A2 WS sa [l i ¢ ?

1.

(@21l D wRAedl us12 g1 AN By~ 0 69,

2. (A2l D o Gl wwaL ay A2 Slal 118 AsuAY ©.

3. A usad awiR usdl [l D A Gaurt s2di x1estaa w2 A4 515 ukald A,

@ 5122 (B) $5d1%43

(C) $5d213 (D) 1,243

GAGAN A2aife Adldtan siisual AlA- U4l sun il wd qa-ll »ian e ?

| TN EREZ 1 D)

2. cledfas wlRdl Aas

3. 2uRd Al

4. Adloiad 214 aamdlui ati

(A)  S5d1u42 (B) $5a3u44

(C) $5A1%13 @ 12324

DA WS 5y / sul Qe / Q- 2 /i 8 ?

(A)  Galami tuale sl BuUloA UFE LA SUAD dils dtatuHi 21d 8, d 2ellBis ulEuziin YaR ©
2 Al Gewerld A%+ 52 ©.

(B) ey tualsUel® eflu uuiarel A8 Qo e 2Adl Blod a1 249 Al el [Asuaan Asndg ©.

(C) (A (B) tinl

(A) 24 (B) U4l 516 Al
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052.

053.

054.

055.

056.

057.

058.

059.

060.

USB stands for .

(A) Universal Source Bus (B)  Universal Series Bus

. Universal Serial Bus (D)  Ultra Serial Bus

In the year 2017, DRDO developed “Muntra”, which is basically an unmanned remote operating
tank (B) plane

(C) missile (D) drone

Why National Technological Day is celebrated on 11th May?
. India achieved a major technological breakthrough by successfully carrying out nuclear test at Pokhran.

(B) India achieved a major technological breakthrough by successfully carrying out first missile test at
Pokhran.

(C) India achieved a major technological breakthrough by successfully carrying out satellite launch
vehicle test at Sriharikota.

(D) India achieved a major technological breakthrough by successfully carrying out nuclear unmaned
remote vehicle test in Karnataka

Which planet was downgraded to ‘dwarf’ planet status?

@ ruo (B) Mars

(C) Earth (D)  Venus

Which of the following is NOT a prospective shale gas basin in India?

. Mahanadi basin (B) Cambay basin

(C) Krishna-Godavari basin (D) Damodar basin

Recently “HELINA” was tested in Chandipur, Odisha. What does it refer to?

(A)  Multi Barrel tank @ Anti tank Guided Missile
(C) Advanced gun (D) Radar Helicopter

Which of the following statements are correct about Vitamin D Synthesis?
1. Vitamin D is produced in the skin by ultraviolet light.

2. Higher levels of Vitamin D are associated with higher morbidity.

3. Body has no mechanism to prevent sunlight from producing too much Vitamin D.
@ 1:0d2 ony (B) 1and3only

(C) 2 and3only D) 1,2and3

Which of the following benefits are expected from GAGAN satellite navigation programme ?
1. Geodynamics
2. Geographic Data Collection

3. Location based Services

4. Navigation and Safety Enhancement

(A) 1 and2only (B) 3 and4only
(C) 1and3only @ 1232044

Which of the following statements is/are correct?
(A) The use of Biotechnology in industry is regarded as white biotechnology, it helps to improve industrial
process and create new products.

(B) Blue biotechnology deals with aquatic environment to generate new sources of energy and develop
new drugs.

(C) Both (A) and (B)
@ Neither (A) nor (B)
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061.

062.

063.

064.

065.

066.

067.

068.

A2 WA 56 Al 2=l Ad A ?

Lo R well (8dlaie?) - d vis a1 ay s32[RuM 2l 118 vitdal 2[suuidd siiaami »ud 9.
2. dgael/uEas wmell (Slda) - d- sidua yd 3uidz 3z .

3. slonoid wmall - urH Slax ud 3uid adg ¥3A 8.

4. ada duiseR - 2 dluisel A ulalza eia v e 33l aldalla y2inq Gualo 52 ©.

A  1,2,3%14 @ 51,2243

(C) $5d214 (D) $5d1,2 4

ARANY vas12 HAS cuetd DA WS s [Qan-l i € ?

AdRARZY 1519 HAS 218 (AN vasign O,

d gl $d MU 52 8.

a5 Hasl amasan yedlell uaR 400 (3.3, Gur 8.

2§51 HASL USAL vis/as3td, A2 20084 ALl 53 8d.

S5 121 3 (B)  $5d2 i1 4 (C) $5d1,2913 D) 1,2,3%4

.:"E"!\”."

A U4 s [Qrual i o ?

1. PSLV 2 GSLV $di %1 .

2. GSLV asiami atu? eur Glasaidl andl 42ud 6.

3. PSLV 61 dtis51o1l HR1d 89 A GSLV AR dtiss1il 421d 6.

4. GSLV 252 d-ll ildu asissinl sty (s 2i-2o-i-l Guaiol 53 €.

@ s501.224 (B) 5$%511,2%43 (C) 552,321 4 D) 1,2,3%44

A W4 56 Al =l © ?

1 yedlr - 3 2ugl - 150 (4L el

2.yl - awgen suglt - 350 (3.4 el

3. ydl-Ir - Asten uglr - dgy adls 2ineia o

(A) 5541443 (B) $5d42u43 @ 1.:23 (D) s5d1u2

A2 WA 5y / sul (e / Q- 02 /i 6 ?

T-55 A [Aou-a 2-5 ¢d Acunidl ud ad dani 2uci 69,

2% - You Yg 2+5 2322l Ld LS x4 Rula s3) 9.

T-72 24, T-90 - V4L 6id 2+5 AU 69,

T-90 2v51 A%y B T-72 2-5+ ¢llwm sdauui 214 €9,

$5d1,2 13 B) 1,2,3xu44 (C) $5d42,3%14 D) 55d4

.:"S"!\”."

QHRARUL SedlsaR Azl A vA 9 5 .......... A U sa1 2ied 69,
@ 200 Gusiisai gL AR Qo Beuedt 2 quia

(B) 3¢ M1 WU gRL gl -l Guala

(C)  HI2RSRIML CNG Sl 2amun

D) 280 aui well-u ey 2auq

QA U4 56 A 2wl A AAA 9 ?

(A) A 22 AUR - d CD 21 DVD WAURIHL QUL AUR % 69,
(B)  AMlsres2 AUR - d AUR Ulr2Rl 2 bUSLS ARAHL QU €9,
(C) O™ AAR - ASAISUR QAR a5 urL vNvuA 9,

@ Gwisaaun

-

A2 @A GusnHi DA WS su1 UsIRU AU Guaior i ¢ ?
A) Wl aa (B) Y& (S4l) azail
@ S an (D) Busd A
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062.

063.

063.

065.

066.

067.

068.

Which of the following pairs are correctly matched?
1. Heavy Water - It is made from oxygen bonded to one or more deuterium atoms.

2. Fissile materials - It does not require any prior conversion.

3. Fissionable Materials - It requires conversion before undergoing nuclear fission.

4. Thermal Reactor - These reactors make use of fast moving neutrons to undertake the chain reaction.
(A) 1,2,3and4 . 1,2 and 3 only

(C) 2 and4only (D) 1,2 and 4 only

Which of the following statements are correct regarding International Space station?
1. The International Space station is a large spacecraft.

2. It orbits around the Moon.

3. The orbit of space station is about 400 km above the Earth.

4. The first piece of space station was launched by Russia in 2008

@ 1:0d30ny (B) 2 and 4 only

(C) 1,2 and 3 only M 1,2,3and4

Which of the following statements are correct?

1. The PSLYV is older than GSLV.

2. GSLYV has the capability to lift greater loads into space.

3. PSLYV has two stages and GSLV has four stages.

4. GSLYV rockets use Cryogenic engines in its last stage.

. 1,2 and 4 only (B) 1,2 and3only
(C) 2,3 and4 only M) 1,2,3and4

Which of the following pairs are correct?
1. Prithvi-I - Army Version- range of 150kms
2. Prithvi-II - Air Force Version- range of 350kms

3. Prithvi-III - Naval verison- called as Dhanush
(A) 1 and 3 only (B) 2 and 3 only
1,2 and 3 (D) 1and2only

Which of the following statements is/are correct?

1. T-55 and Vijayantha tanks are now withdrawn from the service.

2. Arjun —main battle tank is indigenously designed and manufactured.
3. T-72 and T-90 both these tanks are in service.

4. T-90 tanks are called as Ajeya and T-72 as Bhishma.

@ :12:2nd30n1y (B) 1,2,3and4
(C) 2,3 and4 only (D) 4only

Net Metering is sometimes seen in the news in the context of promoting
The production and use of Solar energy by the households/consumers
(B) The use of piped natural gas in the kitchen of households
(C) The installation of CNG Kits in motor cars
(D) The installation of water meters in Urban households

Which of the following pairs is correctly matched?

(A) Solid-State Lasers - these are like the one used in CD& DVD players

(B) Semiconductor Lasers - they are used in Laser printers and Barcode scanners
(C) Gas Lasers - also called as excimer lasers

. All of the above

Which one of the following types of waves are used in the night vision apparatus?
(A) Radio waves (B) Microwaves
Infrared waves (D)  All of the above
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069. DA UL 54 / sui (At / Qi 2 /00 6 ?
e WAz H2as (VPN) 215 25IAD 6 7 9L AAUHA A28 A0 AAUHA 241 5138 87, (AA5133) s .
(B) VPN 28R A2asa vi-dll Azasui [@al 6.
(C)  (A) 21 (B) tin
D) (A) 21 (B) U4 1 )

070. g2 ouod 1A WS sl (Al i 8 ?
1. oeyga 2 4 siell-u A3l vuad- (2l 3w 2l flsa-fl)d un o,
2. d2.4GHzGBUR 514 8 A d 2% w WUl UasH 521 uaH ©.
3. oeyza Busadl AusRs Al () 500 Hlez ©.
4. oy WRdlg Uas 1 mbps W ER 2 ©.
A  1,2,3 244 (B) $5d2,3 %14
@ 51,2214 (D) 55d1,3 24

071. DA UA su1 [Qru-l i ?
1 A-Alonaldl s Al siellud sl dls ugL 2invuy 6.
2. AR sAIS] vau A-Aouaidl s iy 53 edl.
3. awRudl i Ay A A-2onAdlsA HA418 .
4. AR [Qaui Al uan 14-8uaiéls 9.
(A) $5d1,2 24 (B) $5d2,3 v 4
(C) $5d14 @ 12324

072.  $laRMl2 23101 GuRid, DA Wl 54 alsa- ouainids siom w2 audd as ?
1L 2uS8u 3l
2. cEIRERERI K]
3. Al siam
(A) 551 @ 5243 (C) 5541312 D) 1,243

073. MR gL R sl »uddl yaslla A0 vidold D2 WS sy d-u i Residinidg el ?
A)  aildyel Aslxca
B)  visolloaddl x1idRs ouoidini 1S ewa Al
@ isondl e Wicus vuug
D)  isolloaddl a2y 2sdl 24 200{[Z3adiA Wi 2uug

074. Al uRet ouoid DA U sy [ vig © ?
A)  [As Al WAl W2 50% 651 2R(Ad 9.
B) 13 [Qurucu Haldzarl 20444 aldzil w2 2uREd 8.
(©) 26 [Anuen HaldzdiRl 43R Fld2il e 2uR(Ed 9.
@ 5w Ha [QaRl sy il W 2R 8.

075.  N2A UA 2Ad) 56 ouoid 3 % i3 ArAwA AUlAA MenHL 530 wsdl el ?
@ G uwaunn B g2 sa
B) -l Qunuend Qus sg
(C)  uwudi eirRelly dat ®midll usy sl msud sdl.
D) GBuisd U4 58 )

076.  AlsAUHL DA Y4 58 Hagir-d ulEai usi2 4l ?
@A) [Qeus Ha (B) A Hd
@ -adsua D) sl (el [Qde gl Haxdl Aael sdl.
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069.

070.

071.

072.

073.

074.

075.

076.

Which of the following statements is /are correct?

. A Virtual Private Network (VPN) is a technology that creates a safe and encoded connection over a
less secure network.

(B) VPN extends a public network across a private network
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statements are correct regarding Bluetooth?

1. Bluetooth is the name for a short range radio frequency.

2. It operates at 2.4 GHz and is capable of transmitting voice and data.
3. The effective range of Bluetooth devices is 500 meters.

4. Bluetooth transfers data at the rate of 1 mbps.

(A) 1,2,3and4 (B) 2,3 and 4 only
1,2 and 4 only (D) 1,3 and 4 only

Which of the following statements are correct?

1. Antibiotics also known as antimicrobial drugs.

2. Alexander Fleming discovered the first antibiotic.

3. The antibiotics are not effective against viral infections.

4. Penicillin is the first antibiotic in the world.

(A) 1,2 and 4 only (B) 2,3 and 4 only

(C) 1and4only @ 1232044

In addition to fingerprint scanning, which of the following can be used in the biometric identification of a
person?

1. Iris scanning

2. Retinal scanning

3. Voice recognition

(A) 1only @ :2:0d30m1y
(C) 1and2only M) 1,2and3

Which one of the following was NOT among the five principles of Panchasheel Treaty enunciated by India?
(A) Peaceful coexistence
(B) Noninterference in others’ internal matters
Promotion of a democratic society
(D) Respect for each other's territorial unity and integrity

Which of the following statements is incorrect regarding reservations in Gujarat?
(A) 50% of seats are reserved for women in Local bodies.
(B) 13 legislative assembly constituencies are reserved for Scheduled Castes.
(C) 26 legislative assembly constituencies are reserved for Scheduled Tribes.

3 Lok Sabha Constituencies are reserved for Scheduled Castes.

Which one of the following is an issue about which a Governor cannot make a recommendation to the
President?

. Removal of the judges of the High Court.

(B) Dissolution of the state legislative assembly.

(C) Declaration of breakdown of the constitutional machinery in the state.
(D) None of the above

Which of the following is NOT a type of Voting procedure in Lok Sabha?
(A) Division Vote (B)  Secret Ballot
. Blind vote (D)  Recording votes by Distribution of Slips
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077. DAV 54 / s (-t / Qa2 /i 6 ?
1 euagldi quulae sidus sustd {31 sl asat-dl vt Al AsAUUA 9,
2. divia curdla At Gledl sau-l v At ApuAMA .
3. o dlsucud (AU i di 52158 ndud HogR sl vy ATl AsUUA 8.

(A)  S$5d 142 @ 1.:23 (C) $5d2uA3 (D)  55d2
078. Nl WA su1 Hail Bur asll i 2ldcalsaqi andu-l ¢s5 Aol [Ruieid wa 8 ?

1. eud deliud v 2ildd 2. [agell il e Fonadlu Aol

3. tignall 4. VLA AUER

@ 1.23xn4 (B) $5d1,2u4

(C) 5%512,3¥14 (D) $5d1,2413
079. GRAlA viMIRAL .......... A uldeilBa 52 €.

1. Hidd dsdl

2. ds

3. siSuRLvneiHi 16 adl sdi 4] au H1ddi sunsia Aeusl

(A)  $5d1 (B) 5%d2 @ 51212 D) 1,213
080.  GUReAr GIHIRRIAL PUHHHL “UN” Aoerl Bedu .......... Asd 53 8.

(A)  ADS, AY AU 27 s = (B) s, s w14 uiglds

@ 2wl 2uls A o dlu (D)  2ulls x4 A hly ~a
081. Ul ~e1adl gsHa AR A2 [Aru@d 53 asiu. DA UL 53 200 140 ) ?

(A)  HA85HA B) »dldlu 85Hd

wIA S 5HA M) y:(dneudl sgua

082. DA UL il aul 197641 AAAL YAIRA Hadl GIURRAME AHIAA S3UHT UL L 8ell ?
1. udeH Al wouts
2. A Al BraineiRs disudl ueauns
3.

gadl visaL
4. 2l 2isdl 21 2vidldd
@ 511243 (B) 5542314 (C) 55d1,2213 (D) s5d1
083. Aluflsaql xR en, A% ........ A s wre 53 il ©.
@ wlw2uuR 2 Rumsr (B)  AidHunvu- [Asiusdl
(C)  sRuL AU (D)  AHDS A Y2l wR
084.  GUNSIAL 8551 W+l Y5 AL AHL 6121 N8R sul UL 1A WA 51 bunsiql 8551 69 ?
1. SAd/2adl 84l 855 2. 8L 855
3. dutiu cuclal A1 AsiaAL 855 4. [Asu-l 85
(A)  $5d1u4 (B) $5d2uA3 (C) $5d1,2413 @ 12314

085.  oitnellu YaRizil weHl uidu suotd QA W4 sy Qa2 el ?
(A)  GIHIRRAAL HI2L HIRLAL GIRLAL YR HIS AUE- i Ui v sigHdl #3768,
(B) 32415 Yl W2 el sigHdl 33 8.
@ curaquegul yRare we sd wsl.
(D) 32415 YR WS 21381 AU L9 L SlU dHAL gIRL UHAA ¢33 8.
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077.

078.

079.

080.

081.

082.

083.

084.

08s.

Which of the following statement/s is /are correct?

1. Rajya Sabha enjoys special powers to make laws in respect of any matter enumerated in the State List.

2. Rajya Sabha enjoys special powers to create All India Services

3. Rajya Sabha enjoys special powers to approve Proclamations of emergencies if the Lok Sabha stands
dissolved.

(A) 1and2only @ 122043

(C) 2 and3only (D) 2only

On which of the following grounds, ‘Freedom of Speech and Expression’ is subjected to reasonable
restrictions?

1) Sovereignty and integrity of the country 2) Friendly relations with foreign states
3 Defamation 4) Contempt of court

6 1,2,3 and 4 (B) 1,2 and 4 only

(C) 2,3 and4 only (D) 1,2 and 3 only

The Indian Constitution prohibits
1. Human Trafficking
2. Forced Labour

3. Employment of children under sixteen years of age in any mines

(A 1 only (B) 2only

‘ 1 and 2 only (D) 1,2 and 3

The mention of the word ‘Justice’ in the Preamble to the Constitution of India expresses .
(A Social, political and religious Justice (B) Social, economic and cultural Justice
d Social, economic and political Justice (D)  Economic and political Justice

The Jurisdiction of the Supreme Court can be divided into four main categories, which of the following is
NOT in those four?

(A Original Jurisdiction (B)  Appellate Jurisdiction
Special Jurisdiction (D) Review Jurisdiction

Which of the following was NOT inserted in the Constitution by the amendment made in the year 1976?
1. Sovereign Democratic Republic

2. Sovereign Socialist Secular Democratic Republic

3. Unity of the nation

4. Unity and integrity of the nation

@ 1:0a30ny (B) 2 and 4 only
(C) 1,2,and 3 only (D) 1only
Under the impact of Globalization, the state has assumed the role of
Facilitator and regulator (B)  Developer of Infrastructure
(C) Welfare state (D)  Provider of Social Service

Which of the following are the rights of the children as declared by United Nations Convention on the rights
of the children?

1) Right to survival

2) Right to protection

3) Right to relationship with their parents
4) Right to development

(A) 1and4 only (B 2 and 3 only
(C) 1,2 and 3 only 1,2,3and 4

Which of the following statements is NOT correct regarding the process of constitutional amendments?
(A) Special majority of both Houses in Parliament is required to amend most parts of the constitution.
(B) Simple majority is required for certain type of amendments

President of India can ask for reconsideration
(D) For some amendments ratification by not less than half of the states is required
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086.

087.

088.

089.

090.

091.

092.

093.

094.

095.

096.

cuRdll 1A Wl 56 qwoniini “AS2 g Aaysa- 52,2009 Aol W2 25% [R:gues o5l 52Ul oirid € ?
(A)  $5d A1 Wonl

(B)  55d A1 ol A A$1ED 211 Qe vurdll quouil

@ o i, w58 At Ad) vl ol A et A Adl vl ol

D) 5 vl woui

QR 226l 2UALL WA .......... 8.
@ iulsuan (B) AAssd
(C)  (A) ¥ (B) viv D) (A) 21 (B) U4 518 <l

f2l-u W 5y Aopu-ll G2 meLddU SgHA Ssnng el ?

A)  d-Dad axeiadiql 29l el a3 9.

(B)  d HN®d 8s5i-l cnagll el e wudl as 8.

@ - ot 2o a2 u walu Qe 26 Relu s a3 8.
(D)  ddeudl ey Fuamq 214 [Reae 52 ©.

GIRAML R YA gIRL $2AUHE vid el HAMA ........... )

@ =csdzzus. (B)  oitrsdl ©.

(C©)  (A)H (B) id (D) (A) ¢4 (B) U4 815 1l
A3l Al

a.  disudl [@s-dlse L 734 YRl

b.  RYAUA 2. 744l YURL

c.  uaadRiey el 3. onddgd Hdd ARl
d. [B-aduna 4. s v Al

(A) a-3,b-1,c-2,d-4 (B a-4,b-1,c-2,d-3
(C) a-4,b-2,c-1,d-3 @ :-30v-2c-1,4d-4
Alsu™l 42ellHl GHER d-l A5 duifle (Auma) Hid & o dni ......... 4o
(A)  HLY UL 1/3 (B) =4 Hdl-lL 1/4

@ wuudue (D)  GUASA UA 4 )
AR (R 21 wgLdviiulas w2 A U4 sy xi-duel [AdsiBsR Ssu & A vuagus A4l ?
A)  [RBauoll vdug (B) Aty 2ArduR

© [RRAd 2-dua @ iy

A Al ......... i) audl i di d dad-l 164 4313 428 as o,

(A) 18 @

(C) 25 D) 30

-l 23R ald2iDl welHi D21 WAL su1 arui “orandl” 211 “orens” ol axde qul ?
(A) 1956 (B) 1998 @ 200, (D) 2004

cuRdMl 21 Y4 sul latiql viiella xA85R © ?

(A Adl 2 BuR 241 d- A UL RIRNA BUR RS
@ uvls e wawadd dnaadd «1EsR

(©)  Hdan addl sl oS

D) BGuRHA U4 518 )

Aopurlla-u wolels Rtidl .......... L2 Y3 8.
@ o B) ) ualsasa
(©) vl anasl D)  alsad 2=lk5R10 80
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086.

087.

088.

089.

090.

091.

092.

093.

094.

09s.

096.

Right to Education Act, 2009 mandates 25% free seats to the poor in which among the following schools of
India?
(A) Government Schools only
(B) Government Schools and Government Aided Private Schools only
Government Schools, Government aided Private Schools and Private unaided schools
(D) Private schools only

The Election Commission of India has
Quasi-Judicial Power (B) Advisory Power
(C) Both (A) and (B) (D)  Neither (A) nor (B)

Which of the following is NOT within the jurisdiction of the State High Court?
(A) It can hear appeals from lower courts
(B) It can issue writs for restoring Fundamental Rights.
It can decide the river water dispute between the two states.
(D) It exercises superintendence and control over courts below it.

The recommendations made by the Finance Commission of India are

. Adyvisory in nature (B) Binding in nature
(C) Both (A) and (B) (D)  Neither (A) nor (B)
Match the column.
a. Democratic Decentralization 1. 737d Amendment
b. Nagar Panchayats 2. 74th Amendment
c. Panchayatiraj Elections 3. Balwantrai Mehta Committee
d. Two Tier System 4. Ashok Mehta Committee
(A) a-3,b-1,c-2,d-4 B) a-4,b-1,c¢-2,d-3
(C) a-4,b-2,c-1,d-3 . a-3, b-2, c-1, d-4
A candidate of Lok Sabha election loses his security deposit if he/she does not get
(A) 1/3 of valid votes (B) 1/4 of valid votes
1/6 of valid votes (D) None of the above

Which of the following audit is discretionary and not obligatory on the part of Comptroller and Auditor
General of India?

(A) Audit of accountancy (B)  Audit of authority

(C) Audit of Appropriation . Audit of Propriety

A person may be elected as a member of the Panchayat if he/she attains the age of years.
(A) 18 @ =

© 25 D) 30

In which of the following year, ‘Balahi and Balai’ castes were inserted in the list of Scheduled Castes in
Gujarat?
(A) 1956 B) 1998

2002 D) 2004

Which one of the following is the constitutional right of women in India?
(A) Prevention of commission of sati and its glorification on women
. Securing right to an adequate means of livelihood

(C) Provision of maternity benefits

(D) None of the above

Directive Principles of State Policy are fundamental for
Governance of the country (B) Empowerment of women
(C) Preservation of the Constitution (D)  Protection of Individual Rights
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097.

098.

099.

100.

101.

102.

103.

104.

105.

QR M2 oienRellu AL v AL UAH avid D24 U4 518 o sul ?
(A)  FUSRAA 183 (B)  HsLcHL 2]
(C)  URER AAMMS udd @ i

“ul-2n” 152 ouoid A1 WA 53 / san Qs / [Qauel g /i o ?

(A)  Asr Al AR weul WS 251 “U-207 - adls2 ddls [Rysd 52 9.

(B)  Ui-2H A5 SRS Al tAAL gL Al A32Ar dilvidl 15 [Bausl siu 8.
(C)  (A) 1 (B) tid

@ »i@ULESd

A2 WA 54 Ao | sl [ARaR ulan Aiva s16[Rad ue 44l ?

1 M8 2. Ad 3. ol 4. sHRuA gl

(A) $5d2¥43 (B) S5d1¥3 (C) 544 @ Gwisid s
PESA (Ua1ud 215221 g 983¢s 2L) sl o il .......... GIRL 5L Al MeAHRIA PUHIR AN
2dadl 6.

A) 5 dL [Re e wlala B) 5. aan u@ld

@ > quufil D) 2. 5618 ulRl

5292024 1 AS1E] QUIR-AUBFUAL ANAR IRL S5 U514 AAAL AHIH 204 ......... UL UL SAUML 204 89,
(A)  ®RAg 2uslRus 53 B) LR [Buen

(C)  Aad 6w s S @ Gusad 6

2l WA 54 51200 HRAA WAL sl vid cudl a5 8 ?

(A)  R[ANVL AL S (B) $®ud {ld 26 adl

@ »a2imeid (D) (A) 21 (B) U4 41 )

binl ASI-l Y5 tiss buotd 1A WA su Q- i ¢ ?

1 ol 98l (AsuML A AUAML) Y5 6165 AAUMIAL [RaHIZAR 1] udg Alsatiu RugaR wa ©.
2. UYSA ssT SIRU ALSUML VA AFUAMIAL FQ AU 1/10 9.

3. weuYHl AlsuML AR AAAM 55 AV AYsd Glosl aS B,

4. AlsUCU VA AsAAMUL AYSd Bls 5l viASAL AlsAHIL 52 52 ©.

(A) $5d41,2 %14 (B) $5d2,3 4 4 (C) $5d1,2%43 @ 12314
A5 %Al

1. RAg AR5 a aal v

2. uslRus s b.  dxM vyl »uast, Gell sami 2uddl Al 24 Al aygaid

3. st e SWNKuA ugixll anal e Gas vgeir

4. Auuger d. uilas-e 53, Al ad 24 2 Rl v 238 sias

(A) 1-b,2-¢, 3-a, 4-d (B) 1-b,2-a,3-¢, 4-d

(C) 1-a,2-b,3-¢, 4-d @ 1-v,2-23-d4-¢

ALSUUHL A% S UaA d-L 1A [ARIMUEAL AL a5 2 2 2l ) Sear 251 tissl %3 8 ?
@ % B) 15%

(©)  20% (D)  ALSACHL A S uaA 75 QUL Slal 21U s 69
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097.

098.

099.

100.

101.

102.

103.

104.

105.

Who among the following first put forward the idea of a “Constituent Assembly” for India ?
(A) Jawaharlal Nehru (B) Mahatma Gandhi
(C)  Sardar Vallabhbhai Patel @ M N.Roy

Which of the following statement/s about Pro-tem Speaker is/are correct?

(A) The leader of the house appoints one of the senior members as pro-tem Speaker.

(B)  The tenure of the pro-tem Speaker is fifteen days from the date the newly formed House starts its session.
(C) Both (A) and (B)

@ Neither (A) nor (B)

Which of the following States/Union Territories is/are not a member of Western Zonal Council?

1. Maharashtra 2. Gujarat

3. Goa 4. Daman and Diu
(A) 2and3only (B) 1and3only

(C) 4 only . None of the above

Provisions of PESA - Panchayats (Extension to Scheduled Areas) Act are designed on the basis of the
recommendations made by

(A) K P Singh Deo committee (B) K. Santhanam committee

. S. Bhuria committee (D) S. Kothari committee

All revenues received by the Union Government by way of taxes and other receipts for the conduct of
Government business are credited to the

(A) Contingency Fund of India (B)  Public Account

(C) Reserve Bank of India . None of the above

Which of the following can cause loss of Indian Citizenship?

(A) Voluntary renunciation (B) Compulsory Termination
@ BothAanaB (D)  Neither A nor B

Which among the following statements are true regarding joint sitting of the two Houses?

1) The joint sitting of the two Houses (Lok Sabha and Rajya Sabha) takes place according to the rules of
Lok Sabha but not according to the rules of Rajya Sabha.

2) The quorum of joint sitting is 1/10 of the total members of Lok Sabha and Rajya Sabha.

3) So far there have only been three joint sittings of both Lok Sabha and Rajya Sabha.

4) The Speaker of the Lok Sabha presides over the joint sitting of Lok Sabha & Rajya Sabha.

(A) 1,2 and 4 only (B) 2,3 and 4 only

(C) 1,2 and 3 only . 1,2,3and 4

Match the column.
1) Consolidated Fund of India a. Unforeseen expenditure

2) Contingency Fund b. All revenue receipts, loans raised and recovery of loans

3) Public Account c¢. Lumpsum grant to meet operational expenditure

4) Vote on Account d. Receipts through Provident Fund, small savings and other deposits
(A) 1-b,2-¢c,3-a,4-d (B) 1-b,2-a, 3-c,4-d

(C©) 1-a,2-b,3-¢c,4-d . 1-b, 2-a, 3-d, 4-¢

What minimum percentage of strength is needed for a political party to elect the leader of Opposition?
@ 1% B) 15%

© 20% (D)  Inthe Lok Sabha a party must have 75 members
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106. 1857 -u [Qwaq oue DA+ W4 sui ulRRusl 2ucui ?

@ o [@siQug nduy Fui Bda Aoudda curdui adlazdl A1) wasierdl groid s3.
B) viounui sladl w51l a3iq as.

(C)  (A) i1 (B) i1

D) (A) &1 (B) U4 516 Al

107. DA A4 54/ sui [Qaun / (a0 /i 6 ?
1. GURd- s g2 saL W2l uzarl ot cud-u sirmi sami 2udl 22l
2. AU APAUAA §2 s Sl WEarl soraus Mid- siRRHE s 2udl 8.
3. cRdsL [FRiss 2 wsidvi udlasa g s2a Wl uldal curadrdl udlza vetddnl s g2 sal

weHl ulzu gdl o aell 9.
(A)  $5d1 @ s:5123
(C) 554213 D) 1,233

108. =1 vad tuotd A U4 s v © ?
A)  ddslas [Qae Rara w2 dat oi-ud 9.
B)  d Bl duy sioeid) viq usidini s sl 4d 9.
(©)  d sl [Q3-dl500 2 a1y WAL U0 2L dRS E1R 69,
@ G aS

Y

109. PESCO (UR#ri-2 32538 siiiudan) vse sul [Qdiz-u gal 8 sy © ?
(A)  ud AR @ sidunzia
©) ydla2ulBs D) el x189ds

110. DA U4 s [l i 8 ?
1. HEL gl AElHM vLArL AU €9, _
2. AGRHAL ALl vt 2HuUAHE LS.
3. ufum ot 529 Al R vd 8.
4.

Ul L] WAL 2ABUAHE 1AL 69,
(A)  $5d 1442 B) $%5d1,3u4 (C) $5d2¥43 D) $5d3u4

11, D24 5y / sui (a7 [Qaisl e /i 9 ?
1 stélucus dluseu oy ovi dlsidie Sie- | 2ud €.
2. 529 dluseu MY AUH dlstlrll Bi-V Hi 2ud .
3. aRld AU SIEURL GUL 45U AU dlsidloil BAA-TIT i 2uadl el

(A)  55d41¥R2 (B) 1,243 @ s (D) 543
112, GURAHL 5uRL BAlle M2 ASHIL WAL A ... #.

(A) 2™ B) [y (C) Hmau @ inisaEwr
113, cuRdui sward vidl w2 DA 44 Qi 2ue [k sui 6 ?

A)  asysd vila B) MRdlu-ddu e

@ v G (D) %9120
114, 0A1 U4 56 A2l Yulasia el ?

A)  sad (B)  €lMigR ©) [Bwu @ -
115, DA A4 54/ sul uNaR vieuznu g0 41d € ?

A)  [Rest anaR (B)  WidudL AAR

@ »a2imeid (D)  (A) 2 (B) U4l 51 ]
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106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

Which of the following consequences followed the aftermath of the revolt of 1857?

Queen Victoria’s Proclamation wherein the British Crown assumed direct responsibility of
administration in India.

(B) Dual government in Bengal was introduced.
(C) Both (A) and (B)
(D) Neither (A) nor (B)

Which of the following statement/s is/are correct ?

1. The process of removal of Prime Minister of India has not been provided in the Indian Constitution.

2. The process of removal of Governor of a State has been provided in the Indian Constitution.

3. The process of removal of Comptroller and Auditor-General is the same as that of the removal of a
judge of the Supreme Court of India.

(A) 1only @ 1:na30ny

(C) 2 and3only D) 1,2and3

Which among the following is incorrect about Nyaya Panchayats?

(A) It composes a system of alternate dispute resolution.

(B) It has judicial functions both in civil as well as in criminal fields.

(C) Itleads to democratic decentralisation and also provides easy access to justice.
. None of the above

PESCO (Permanent Structured Cooperation) Pact is associated with countries of which region?
(A) East Asia . European Union
(C) Eastern Africa (D)  South America

Which of the following statements are correct?

1) The estuary of the Narmada river is in the Gulf of Khambhat.

2) Sabarmati river falls into the Gulf of Kutch. _
3) West Banas debouches into the Little Rann of Kutch.

4) The Mabhi river falls into the Gulf of Khambhat.

(A) 1and2only (B) 1,3 and 4 only
(C) 2 and3only (D) 3 and4only

Which of the following statement/s is/are correct?

1) Kathiawar peninsula falls in Zone II of earthquake risk intensity.

2) Kachchh peninsula falls in zone V of earthquake risk intensity.

3) Not any part of Gujarat state falls in Zone III of earthquake risk intensity.

(A) 1 and2only (B) 1,2 and 3
2 only D) 3only
The only state famous for producing Saffron in India is .
(A) Assam (B)  Sikkim
(C) Meghalaya . Jammu & Kashmir
Which of the following is the most ideal region for the cultivation of cotton in India?
(A) The Brahmaputra valley (B) The Indo-Gangetic plain
The Deccan plateau (D) The Rann of Kutch
Which of the following rivers does not have delta?
(A) Cauvery (B) Damodar
(C) Krishna @ nNarmada
Which of the following lakes has/have brackish water?
(A) Chilka lake (B) Pangong lake
Both (A) and (B) (D)  Neither (A) nor (B)
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116, A1 A4 54 udalamiz ulan el udanning 4l ?

(A)  geyu QR (B)  HswAR QR
©) sayeus @ ~uwedd
117, AYHINAL 52ELs ALS5A HIRLHL voL % 4y Ao nalsl 42uadl Gudl uad waudA .......... 58 69,
(A)  AsAd B)  uldasad (©) Ay @
118, DA A4 &y [QAyaglia Radlai forad as -l ?
(A)  usion wu gail @ »ivaanigal
(©)  ddizll 2= deaid] daaai (D) MYR HIUHL Gola gail
119. A3l Al
aaRlLuRun (Fizazu
a.  vaq (saw) 1. gasoenid
b. [Rungl 2. gadd
c. &l ogm 3. gy
d.  asqdwsl 4.  adRuai
(A) a-4,b-2,c-1,d-3 a-4,b-3,¢c-1,d-2
(C) a-3,b-2,c-4,d-1 (D) a-1,b-3,¢c-2,d-4
120 MIRAME AU 21 ¢a3u {d Al ya §HaAzu .......... 8.
A) [Ruau uddl @ Goruden
(C)  evmi-lL cual-ll B2 uea (D) dlusadly G uga
121, 20110 azdl oR1a 02 A WA sl s uyer Al ay wardLe: 4AA S ?
(A) ©lg @ 3 ©) [l D) A
122, DA UA 56 Al il el ?
A) [Qau3y - 512 B)  dl-ausrdl vila - adlui
@ noznvssl - sRuu i M)  g-2usrAlvla - RBusg
123, GuRd- DA U4 s ueani “de S-fluqt sidlid” d-u wglds Ryl Aai v ¢ ?
(A)  Grr-ulau eud-u dl-u 0 B)  elAa tud-u uygsisizil
(€)  ulun 9oR1d-l viRIMR L EQEQ @ e

124, yedl ag GuR Hiiwwrg Hlg well (fresh water) (81 [RQvRl 214 [RuAgl2il als 2xlRda qad 6. suslu Hlel
wellg Alefl ay wwa ......... .
(A)  AAARRIHE Mo 24 UgouAL dZ)S A Ul 69,
B) st el AR 244 ALlBIHL A vl 69,
@ cowivn adls vk aad 8.
D) gl @i ddlS vlac 44 €.

125.  uRd-l @22 gl suotd A1 W4l s [Qen-i i e ?
1. daruadd e 3aHdl sia 6.
2. d-uSaln A wlelaHi uyt €lu 8.
3. daoeq - Grrusami il Ad [Asfaa 9.
4. s odl-imi 2Qlaist (Rusggren) A 519 ikl dld G 8.
(A) $5d41,2913 (B) $5d2,3 4 4 @ 55124 (D) 54213

126. DA WA su Rl Aysaupsia v1uR 52 6 ?
L yedldudlema 2.0 sagesumduad 3.0 uyguweldlada 4.0 yedld emw
(A)  $5d1u2 @ 51,2213 (C) s$5d1un4 (D) $5d2,3 244
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116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

126.

Which one of the following mountain peaks is NOT in the Western Ghat mountain ranges?

(A) Kudremukh peak B Mahabaleshwar peak
(C) Kalsubai peak Niyamgiri

An upper wind system with very high velocity flows in certain parts of the atmosphere is called as
(A) ACyclone (B)  An Anticyclone

(C) The Monsoon . A Jet Stream

Which one of the following is NOT the feature of the equatorial Evergreen forest?
(A) Broad leaf trees Thick barked trees

(C) Surrounded with creepers and climbers (D)  Luxuriant grown trees
Match the column.

Erosion Agent Landforms

a. Wind 1. Sinkhole

b. Glacier 2. Potholes

c. Underground water 3. Crag and Tail

d. Running water 4. Ripples

(A) a-4,b-2,c-1,d-3 @ --4v-3c-1d-2
(C) a-3,b-2,c-4,d-1 D) a-1,b-3,c-2,d-4
Geologically and Geomorphically the youngest land form in India is .

(A) The Himalayan mountains . The Northern plains
(C) The Deccan Lava plateau (D)  The Peninsular plateau

Which of the following religious communities record highest literacy rate as per 2011 census?
(A) Buddhists i Jains (6)] Christians (D)  Sikhs

Which one of the following pairs is NOT correct?
(A) Swallow Holes — Karst (B)  V-shaped valley — Rivers
Mushroom rock — sea waves (D)  U-shaped valley — Glacier

In which of the following regions of India is the ‘Great Indian Hornbill’ found in its natural habitat?
(A) Sand deserts of North-West India (B)  Sea Coasts of Southern India
(C) Salt marshes of Western Gujarat . Western Ghats

On the planet Earth, most of the fresh water exists as ice caps and glaciers. Out of the remaining fresh water,
the largest proportion

(A) is found in atmosphere as moisture and clouds
(B) is found in fresh water lakes and rivers

exists as ground water
(D) exists as soil moisture

Which of the following statements regarding laterite soils of India are correct?
1) They are generally red in color.

2) They are rich in Nitrogen and Potash.

3) They are well-developed in Rajasthan and Uttar Pradesh.

4) Tapioca and cashew nuts grow well on these soils.

(A) Only1,2and3 (B) Only2,3and4

Only 1 and 4 (D) Only2and3
Which of the following factors influence the ocean currents?
1) Rotation of the Earth 2) Air pressure and wind
3) Density of ocean water 4) Revolution of the Earth
(A) Only1and?2 . Only 1,2 and 3
(C) Only1 and4 (D) Only 2,3 and 4
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127. UM cuRdHD a2+ e 220 oietd-dl Alell dsiod auegdl .......... 8.
(A)  oiuvilal ds ol aAEAN YA A4l GIRL AaR0Y
B) Rl g1l Mg sunflead
@ sl azaue a2 AR Gad uddidl Skeid
D)  elB-ulam AHnl o B Y5t uart-l uast Wil 4 ¢,
128.  &uRdrll 20a3] ddl [Qcirul Gdrdl suui >uddl ol 2l $4 .......... 6.
@ v, sl o, cra-dl ol @2z ol
B)  siull oy, cra-adl gallq, s1ofl gallq, 22wl
©  siull oalln, cra-adl llq, d2ade wdlA, sifl sl
D)  ad-udl A, siudl gl sl gl d2ade sl
129.  €IHIER AElHL Gual uas ......... CEICR
A) sevlla @ »uianisad o
© auruvy ®) [Rauaia
130.  H-AlA (dar) oueid A1 WA 5y / sui [ / Qe 0 /i ® ?
Lo dsisil asaidl 204 Yrudleidl 212 04 8@ 200 8.
2. 4-Al auldd Q8 well-l ae adl 9.
3. ARl A 530 A5 dal 98l © 21 sisill 5612 uR[RAMAAL A8 21458 4Ad B,
(A)  $5d1 @ 51213
(C) 554213 D) 1,243
131, DA 4 5y / sui (e / [Qausil ) /i 9 ?
1. & @l 55% azdl 282l [QearRiui 28 8.
2. [Qadl 284 axdl-u 54% Rauq il ©.
3. 23, d-l 28 [l 8 dl 43% azdl g, Al A 6.
(A)  §5d2 (B) $5d143
@ 12213 (D) $5d2¥43
132, GeRdl saug dusiA ...
(A)  §AQW D, (B) usdl 8 € cuRens ad ¢,
(€ w29, @ s
133, s cldulas a2 adls, xa-A-i .......... 18 As0AY 6.
A) Qe [ [l aruiE [3UH e
B)  Aydls wni v [Alda
(©)  AdaRelld A(MARAHL AHU Al
@ Gudsdaun
134. 9% AR MRdly 2ed s2dl ssllzAini [QAcuad adg © ?
(A) uia ® = (C) =2 D) a
135, Ay3L selll 22 sl yddefl ulH a5 wai usidlal A WA sl sH 00 8 ?
A)  dlunn usidladl, Hsiea usidlal, 34 usiélil, Al usidlai
@ 2 0unuaflai, weiza ueilut, Asd usiflil, ArHdd usilil
(©  usiza usiilail, aorflusn usidll, 342 usiilil, Alu: usiélzi
D) Aruon usidlil, 342 usiélil, Heiga usidlil, ArHsa usiilil
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127. The most plausible explanation of the location of the Thar desert in Western India is .
(A) The obstruction caused by Aravaillis to the rain bearing wind that proceeds to the Ganga Valley
(B) The evaporation of moisture by heat
. The absence of mountains to the north of Rajasthan to cause orographic rainfall in it

(D) That the moisture carried by the south-west monsoon is driven away by the dry upper air current

128. The correct sequence in descending order of the given soils with respect to area coverage of Indiais
@ Anuvial, black, red, laterite
(B)  Alluvial, red, black, laterite
(C) Alluvial, red, laterite, black
(D) Red, alluvial, black, laterite

129. The upper course of Damodar river occupies a .
(A) Rift valley . Synclinal valley
(C) Eroded valley (D)  Depositional valley

130. Which of the following statement/s regarding ‘Mangroves’ is/are correct?

1. They protect the shoreline from the effect of cyclones and tsunamis.

2. Mangrove vegetation facilitates no water loss.

3. They are salt tolerant trees and are adapted to life in harsh coastal conditions.
(A) 1only @ :1:nd3ony

(C) 2 and3only D) 1,2and3

131. Which of the following statement/s is/are correct?
1) Today, 55% of the world’s population lives in urban areas.
2) Asia is home to 54% of the world’s urban population.
3) Africa remains mostly rural, with 43% of its population living in urban areas.

(A) 2 only (B) 1and3only
. 1,2 and 3 (D) 2 and 3 only
132. The temperature of descending air
(A) Remains constant (B)  First decreases then increases
(C) Decreases . Increases

133. As a geographical phenomenon, the El-Nino is associated with
(A) The shift of rainfall patterns in a large area of the globe
(B) The temperature variations in oceanic water
(C) The remarkable disturbances in atmospheric circulation
@ Auof the above

134. In how many categories is the Indian railway divided according to ‘Gauge’?
(A) Five @ rou
(C) Three D) Two

135.  Which of the following is the correct sequence of the hills from East to West that constitute the Satpura range?
(A) Rajpipala hills, Mahadeo hills, Kaimur hills, Sonpar hills
. Rajpipala hills, Mahadeo hills, Maikal hills, Rajmahal hills
(C) Mahadeo hills, Rajpipala hills, Kaimur hills, Sonpar hills
(D) Rajpipala hills, Kaimur hills, Mahadeo hills, Rajmahal hills
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

dlst 2uleonldg R .......... Hi B,

A)  Suua usidlui B) [RQcudls usifla

(C)  Helea usiilil @ 4Bk uadvi

CREEY RN

FNHIY AR

a.  Olss i. UL

b. s i, IRvis

c. A (Amst) iii. 30

d.  Hawmwe iv.  sales

@ --iv.p-iii, c-ii, d-i (B) a-iv, b-iii, c-i, d-ii
(C) a-i, b-ii, c-iv, d-iii (D) a-i, b-ii, c-iii, d-iv

D2l W4 5y / sui [Aanq / [Qail “2adst - 291205 Gailol tiotd A / A1l € ?
A)  dn-agiy sia 9.

@ v Geueru wsaR viHi AlEl 35 Usdl o Widlg 2am vigd 8.

(C)  (A) 21 (B) vin

D) (A) &1 (B) U4l 518 4l

QURATL HI2L WL (UR) Hi ... RS Yo 2a 8.

@ :uw B) il (C) vda (D)  Gusd dwn
uisll, AaR 24 ellacust DA W4 su vl el Asondai [QawRi ¢ ?

(A) oslsuse ® - (C) dlsuzs (D) Sl
auRdrL DA U4 sul uea H-ala Fad, e dlan #oe s uirv gy Al 4ad 6 ?
(A) 28 usA-l GuR sisl B) syl sioun

©) sl Ag @ e 2 Rsiewr 2yl

opou A€l A1 WA s Azuuidl ad © ?

1. Ruaavsa 2. 9dluoe

3. [Bwwr 4. iR=u

(A) 8541413 (B) $5d2,3 4

@ 553 D) 1,2,314

YAldHl AU A 831 AL 2isolloanl (ufl o €9 2 Al USRI AAAS AR WAL O B ... 58 69,
@ isaisaans B) A5yl g

(C)  did& Adus (D) A4 AAAS

QEUUL i - P Hio ouotd A W4 5y / suil [ / [Qa-l g /i o ?

(A) 428 aa dond-u Hiod 9. (B)  drl dollcHs Hio uaL 58 69,

@ »>2imeid (D) (A)>1 (B) WA A1 )

QA Q4 56 Ad vl Ad Al 9 ?

(A)  HRAL2A gl vidl - 9-eR (B) W siassedl - syad

(€) dlsidla asd - Ry @ cwagadu - srugud

yetdl Rastumi $6 Al Gau vrun ¢ ?
A) AR (B) sl @ o D) Aad
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

146.

The habitat of the Toda tribe is in

(A) Erramala Hills (B) Siwalik Hills

(C) Mahadev Hills . Nilgiri Hills

Match the column.

Waterfall State

a. Gokak i Madhya Pradesh

b. Snake ii. Jharkhand

c. Jonha iii. Kerala

d. Dhuandhar iv. Karnataka

. a-iv, b -iii, c-ii, d-1i (B) a-iv, b-iii, c-i,d -ii
(C) a-i,b-ii,c-iv, d -iii M) a-i,b-ii,c-iii,d-iv

Which of the following statement/s regarding “Foot Loose” industry is/are correct ?

(A) Itis location-specific.

. It immediately changes its location as soon as there is small change in the base cost of production.
(C) Both (A) and (B)

(D) Neither (A) nor (B)

The most important source of irrigation in Great Indian Desert (Thar) is

@ cana (B) Well

(C) Tube well (D)  All of the above

Khetri, Alwar and Bhilwara are regions associated with which of the following minerals?
(A) Bauxite . Copper

(C) Iron Ore D) Coal

Which of the following regions of India has a combination of Mangrove forest, evergreen forest, and
deciduous forests?

(A) North Coastal Andhra Pradesh (B)  South West Bengal

(C) Southern Saurashtra . Andaman and Nicobar Islands
River Ganga flows through which of the following states?

1. Himachal Pradesh 2. Chhattisgarh

3. Bihar 4. Odisha

(A) 1 and3 only (B) 2,3 and4 only

@ oy (D) 1,2,3 and 4

When warm front and cold front merge with each other in cyclone, a third type of front is formed which is
known as

. Occluded front (B)  Secluded front

(C) Vortex front (D)  Vernal front

Which of the following statement/s regarding seismic waves - “P” - wave is/are correct?

(A) They are waves with short wavelength. (B)  They are also known as longitudinal waves.
@ Both (A) and B) (D)  Neither (A) nor (B)

Which of the following pairs is incorrectly matched?

(A) Mirchi and Tobacco farming - Guntur (B) Rail Coach factory - Kapurthala
(C) Locomotive works - Chittaranjan . Venice of India - Kanyakumari
Which painting is considered as best style in Mountain Painting ?

(A)  Guler (B)  Barsholi

. Kangda (D) Mewari
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147, elaR quraxl waldd “ais” Adlu [Qapuqo-u Rssiil 58 ugHidl siaani 2ueal edi ?

(A)  Aidl (B)  dioy @ - D) iy
148.  URAMI 134 ALlU AN ......... oL L5 Alnvcuni »ud 9.

A) @5y @ -~y (€ sdyd (D) 4y
149.  RR0HI 20 H3ud g s8aiu & ?

(A) 26a @ onisn (C) sna D) =l
150.  dRuda-l 2AUsg U weudl.

@ anilug (B) ¥ADAEIA (C)  AHAW D) olluuse
151, Wi “Uldiy”d [Bi3e sul dgd slad 20w 8q ?

(A)  3u ol oL~ ©) -Nass Alad D) [uadld
152, RAdHl U agRAADAL [t suR a0l ?

@ Aasusom (B)  dcdrd Sl (©) s (D) W SH
153, “GR-arau” g8 ?

(A)  -u2s @ b (C) dissa D) @l
154, oumAlR siu-d awll audld disid adu s .......... PRETHTENERI A

A)  adlda (B) 2RI @ cluasmw ®)  edlyys
155. e sl dlsRAsR 9.

(A) A% M2d B) [aruRdd @ ol (D)  vier MR
156. M3 [Feanni os1-2euucs sui 2udg O ?

A) olilRau @ Luinw ©) Hea D) A
157.  [i-urd il sial vitey gd ?

A) elugq (B)  FHRUWN (C) daxwa @ il
158.  “olad o {27 sui2udg 8 ?

@ (B) A (C) W (D)  UeuAWRR
159. ausield 82t su Beauqu wanid 1ol ¢dl ?

@A) Myt (B) &S @ v D) %A
160. “AalRu” oo ?

@ vcwiiwrs. (B) ddalerl usR 9.

(©)  aluvlaiusie 9. (D) DAL USIR .
161.  ANadl gue su-usala-d Aell ay uui: sial sul el ?

@ 2wl (B) 501D AU () 2AAZAZA (D) GUBGSIER
162, NERAWRRAHL At 422 uddlar 56 uelni vit ¢q ?

A) sl B) 124 @ D) 144
163, OUYUSIR WAL S a0l e91uRicuy] Hl2R euuc ulAdu sui A «a & ?

@ (B)  AAAR (€ R4 D) Ay
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147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

From which metal were the famous “Varah” style Vijzgnagar coins in South India made ?

(A) Silver (B) Copper Gold (D)  Bronze
The time of the 13th century is known as an era of in India.
(A) Bhaktiera . Language era
(C)  Philosophy era (D)  Religion era
What is the temple porch (mandap) known as in Orissa ?
(A) Deuol . Jagmohan (C) Kalash (D) Stupi
Mention the name of the founder of Terapanth.
. Acharya Bhikshu (B) Jagjivandas (C) Ramcharan (D)  Bhikhanand
To which sanskrit poet did Shahjahan gave the title of “Panditraj” ?
(A) Roop Goswami . Jaggannath ©) Neelkanth Dixit (D) Vimalkirti
When did the Jains attain the development of miniature painting style ?

Chalukya period (B)  Sultanate period
(C) Gupta period (D)  Medieval period
What is “Urmi Navrachana” ?
(A) Drama @ reriodic (C) Folktale (D) Hymn
The one who gathered the people at the square of the village by banging bronze plate was known as
(A) Vahivancha (B) Garoda

Chundadi Brahmin (D)  Devipujak

is the folk painter of Lathi.

(A) Vrajlal Bhagat (B)  Vinay Trivedi

Kumar Mangalsinh (D) Khodidas Parmar
Where is the cave-architecture situated in Bharuch district ?
(A) Boriya . Kadia Dungar (C) Intava D) Saana
Who built the temple of Girnar ?
(A) Bhimdev (B) Kumarpal (C) Tejpal . Sajjanmantri
Where is the “Bavandhawaj” temple situated ?

Sarotra (B) Than (C) Pavagadh (D)  Prabhas Patan
From the base of which fort were the bricks of Kshatrapa period found ?
(A) Zinzhuvada (B) Dabhoi

Vadnagar (D)  Junagadh
What is “Choghadiya” ?

A type of drum (nagara) (B) A type of string musical instrument
(C) A type of flute (D)  Atype of “manjira” (musical instrument)
Who did the most propaganda of Dhrupad singing style of music ?
@ raja Mansinh (B)  Kumbhaji Rana
(C) Acharya Sarangdev (D) Bajbahadhur
In which century was the Somnath Temple first built in Prabhas Patan ?
(A) sth @B) 12th @ ot (D) 14th
Where is the temple architecture with rounded base and leaning roof especially seen?

Kerala (B) Rameshwaram
(C) Gujarat (D)  Mysore
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164. cuf-uRiaa Anea-l “Risnusl”wi waznda ged un audl.

A)  wgalRARA @ 2 (©) slRaNd (D) 4L
165. desio gRun [A512 914l d2i-t151 B QA suL AUH NN 2adi ?

(A) lwas (B) &812 ©) uRa ® -
166. DA UL 5 €l 9Rdril Araiom dldniqdl A5 el ?

A)  eand @ = (C) Ans (D) WM
167.  AenausHi ol yon suL-usd i 6 ?

@ B (B) ™%ALq (©)  cldluell (D)  ®uEALA
168. A U s sla/slAutian a0l 2u-124L 531 9 ?

(A) AN B) acam sla

@ »rimin D) (A) 21 (B) U4 41 )
169. A35i sl

AqasAL avs

a. Rl 1. g slrd o8l

b. Hlaalssdaud 2. aulunan

c.  olglan 3. [agme

d. Gl 4. ¢dwed

(A) a-1,b-2,¢-3,d-4 B) a-1,b-3,¢-2,d-4

(C) a-4,b-2,¢-3,d-1 @ :-4b-3c-24d-1
170. 812 acamans u2a- uldu w22y vis YR Rl s o ?

A) cuagw gl @ Ly ©) [Brmaviq D) 48 s
171, UURA dqA1d Haor “oudl” vied g ?

@ = (B) Wi (C) €:® D) ad
172, a2zl “Gledlau ea” -l ddaiR suR Gyd € ?

(A)  aauedWAuUL  (B) S8 WU @ widurauaRk © Ruow
173 §.2. 2019 1 s ol Riasiea usisl 2idld woeal © ?

(A)  JamHsME A (B)  idd SlRul @ il D)  Md vicnena
174, “aulix” WHHL YUl S1UAAAS Avis 51 6 ?

A)  2ydlz A8 @ iy uazis (C) Assid A (D) AUMASR 6152
175. ueed [gAglg 2dw s squad 8 ?

@A) [Rasa ® i (C) dissal (D)  dusal
176.  NAW U 54 s2694i oalls Bired S qua ¢ ?

A) @Al (B)  -UHEL @ >y D) R
177, o Al “vRgl tronR”” e onelld .

@ S« (B) WAy ©) ™S (D) siza
178. A% M+ B+ H[ERA ARudrL UL A 2udai & ?

A) Brqwgadini (B)  sidtaui @ uvviuaduwi D) wiecvlae o
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164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

Mention the name of the metre used in the “Shikshapatri” of Swaminarayan sect.
(A) Shardulvikridit . Anustup (C) Harigeet (D) Zulana

By which name was the class which gave up hunting and started rearing sheep and goats known ?
(A) Gopalak (B) Thakore (C) Pariah . Gadri

Which of the following rivers is NOT one of the rivers of Saptasangam Tirth of Gujarat ?
(A) Hathmati . Meshri (C) Vatrak (D) Mazhum

By which name is snake worshipped in Zhalawad ?
Vasukinaag (B) Bhujungdev (C)  Bhothikhami (D) Bhadarwadev

Which of the following poets has / have composed “Garbi” ?
(A) Dayaram (B) Vallabh Kavi . Both A and B (D)  Neither A nor B

Match the column :
Novel Author

a. Aganpankhi 1. Chandrakant Bakshi
b. Mira Yagnik Ni Dairy 2. Varsha Adalja
c. Bandivan 3. Bindu Bhatt
d. Paralysis 4. Harindra Dave
(A) a-1,b-2,c-3,d-4 B) a-1,b-3,c-2,d-4
(C) a-4,b-2,¢-3,d-1 @ --4p-3c-2d-1
Who is the sculptor of Sardar Vallabhbhai Patel’s statue, “Statue of Unity” ?
(A)  Balkrishna Doshi @ ramv.suar
(C) Bimal Patel (D) Louis Kahn
What is “Garudi” according to traditional profession ?
. Madari (Snake charmer) (B) Bhavaya
(C) Tailor (D)  Dholi (Drummer)
When do the tribals of Gujarat celebrate the festival of “Underiya Dev” ?
(A) In monsoon season (B) In Fagun month

When the crop is ready (D) In winter
Which Gujarati painter has received the Padmashree award in 2019 ?
(A) Gulam Mohmmad Sheikh (B)  Atul Dodiya

Jyotindra Bhatt (D) Amit Ambalal
Who is the author of Gujarati poetry-collection, “Vakhar” ?
(A) Raghuveer Chaudhary . Sitanshu Yashschandra
(C) Chandrakant Sheth (D) Labhshankar Thakar
In which field of arts has Prabhulal Dwivedi contributed ?
(A) Painting @ heatre (C) Folkarts (D) Dance
Which of the following is known as the center of Block Print in Kutch ?
(A) Bhujodi (B) Namda

Ajrakhpur (D) Zhura

is known for its “Kharadi Bazar”.

Idar (B) Palanpur (C) Dabhoi (D) Bantwa
In which forest of Gujarat are the ruins of three Jain temples found ?
(A) In the forest of Gir (B)  In the forest of Dang

In the forest of Polo (D)  In the forest of Narmada Valley
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179.  ¢Ralidl neidled s [Feeuni »udg & ?

A)  Racdl B) zad[A sl

@ -cuvavr (D) el
180.  “oliruazy” syl AxUnl s64adil st e ?

A) Ry (B) Weuay @ Mg (D)  AsULA
181, “susulunl’ ... MREER

A)  sasuda @ :ilx

© [Rasw D) i usda
182, DA WA suL YLl QMRS s2cs dasul “oledl-l Bagl” srami vud ¢ ?

(A)  qa (B) ®Ral ©) eud @ -y
183, dud-ll dlsiglami.......... A eRus edjasiaadl edl adls wami »ud 8.

(A)  Ricamidl @) [Qa-ed @ Guidwua (D) A4 W
184. Al g uRNEIA anusHHI 2Usal.

1. dauel 2. A 3. wedlya 4. silgnR

(A) 1,4,3,2 (B) 3,2,1,4 € 4,1,2,3 ® 2134
185.  URdrl t8IR adA MIRdlu Al 2unL 512 Man @l ......... .

(A) AW AU, A (B) QAL ¢ReUA

@ B (D)  YoNAs ollo

186. DA 54 / sul [t / [l 02 /i e ?
@ w27 Ao iglag ael@s aua s.
(B) G Swirll Huu WIS Sl
(C©)  (A) A (B) i1
D) (A) 21 (B) U4 6iS 1l

187. D2 U4l 5y / sui [Qaun / (sl ) / i 6 ?
(A)  Bde AHAUL S+ Ale) Hi2l eR1en 9.
(B)  BAEAL dHIM H3VHL 2324 2] 2l u 8.
@ »2i®id
D) (A) 6 (B) U4 518 1l

188. -l U4 su [Atu-l i ?
1. Al2s unumi 2uuusl Ae dig sdl.
2. 8998 ULl AUHUHL UH SUUA HAU 93 UAAL AE ™ Alvis ad 8.
3. UM, BAE  dle s yd-l AA 6,
(A)  $5d1 242 (B) $5d2u43 (C) $5d113 . 1,213

189. e HeAR I Reudn U Sl dimu eld 9 3 -
A)  axi [afdy 51800110 alEauoll aysl sdi.
(B) il 2ulis Ad AHR 8di.
(C) Al vis u0id) oilog 2201 UNIAR $2di L.
@ Gwisaaun
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179. In which district is the “Hastigiri Mahatirth” situated ?
(A) Aravalli (B) Devbhoomi Dwarka
Bhavnagar (D) Narmada
180. “Bommalattam” puppet art belongs to which state ?
(A) Sikkim (B)  Meghalaya
Tamil Nadu (D)  Andhra Pradesh
181. “Thakaraya Charo” is a type of .
(A) An act of Bhavai . Dangi dance
(C) Painting (D)  Dressing of Ahirs
182. 1In which of the following communities is “Godadi no Jhagado” done at the marriage function in some
areas ?
(A) Vasava (B) Bharwad
(C) Rabari Devipujak
183. is believed as marine / shipping Goddess in the folk culture of Gujarat.
(A) Randal mata (B)  Vidhatri devi
. Shikotar mata (D) Meldi mata
184. Arrange the following Buddhist Councils in chronological order
1. Vaishali 2. Rajagriha
3. Pataliputra 4. Kashmir
A 1,4,3,2 B) 3,2,1,4
<O 4,1,2,3 2,1,3,4
185. was the first person to establish an independent Indian army outside India.
(A) M. N. Roy (B) Lala Har Dayal
Rash Bihari Bose (D)  Subhash Chandra Bose
186. Which of the following statement/s is/are correct?
. “Dish-on-stand” is a characteristic vessel of Harappan Civilisation.
(B) The staple diet of the Harappan Civilisation was wheat.
(C) Both (A) and (B)
(D) Neither (A) nor (B)
187. 'Which of the following statement/s is/are correct?
(A) Indra is the greatest god in the Rigvedic times.
(B) All mandalas of the Rigveda begin with the hymns to Agni.
Both (A) and (B)
(D) Neither (A) nor (B)
188. Which of the following statements are correct?
1) Ayas refers to metal in the Vedic period.
2) Shyama Ayas or Krishna Ayas refers to iron in the post-Rigvedic period.
3) Therefore, Rigveda is a pre-Iron Age text.
(A) Only1and?2 (B) Only2and3
(C) Onlyland3 1,2 and 3
189. The Mandsaur Inscription and Indore copper plate of Skandagupta suggest that
(A) They were powerful guilds of various craftsmen
(B) They were economically quite well-off
(C) They migrated from place to place
All of the above
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4. AV WHNERA U2 S1A%, uaR-L 2L 3.

(A)  S5d1 244 (B) $5d1,2u44
@ s:511,2213 (D) 1,2,3214

Rugelladl 2i240q suoid D21 WA 54/ sul [/ [Qanl 02 /i o ?

1L HIS=-321 2 Ryellw 2iglad Alel |ig 2an 8.
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3. dladd Aldl 214 qgednglast (Sisad) 8.

(A)  $5d1 412 (B) $%5d3

(C) $5d243 @ 123
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Lo Wl curd e R duir dus enu-ur nam ydlu A sdi.

2. ARS-E-UML 194840 stdlse bigR vl _
3. wigolld ey wdl ollan 151041 56% 54,

A) 551 (B)  $5d1 2

(C) 554213 D) 1,243
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1wl garidlul wam 2y A8 e, “eudur sugoidl”’-l a-u s4l.
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3.l yg S22 S-flan sudld Br 214 yd turdMl Yud At eirudl,

@ 1 (B) $5d2

(C) $5d1¥12 (D) 1,243

A2 VAL 51 HEA ABFHIR %A AR (YOER) Sdi ?

1. HRAE 2. wewsi

3. ARARI 4. srulasis
@ 123214 (B) $5d1,2%4
(C) $5d2%14 D) $5d2,3 2 4
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The famous battle of Kasahrada (Kayadara) was fought between
(A) Mahmood Gaznavi and Bhimadeva Solanki

(B) Mahmood Gaznavi and Anandapala

(C) Muhammad Ghori and Pritviraj Chauhan

. Muhammad Ghori and Solankis

Which of the following statements regarding Bhavsinhji II are correct?

1) He wrote/edited four parts of Sangeetmala.

2) He founded an institution which ultimately became “Bank of Saurashtra”.
3) He translated the Greek epic Iliad into Gujarati.

4) He established Shamaldas Arts College, Bhavnagar.

(A) Only1 and4 (B) Only1,2and4

. Only 1,2 and 3 D) 1,2,3and4

Which of the following statement/s regarding the Indus Valley Civilization is/are correct?

1) Mohenjo-daro is the largest site of Indus Valley Civilization.

2) Most impressive and unique feature of Dholavira is its water harvesting and management system.
3) Most distinctive feature of Lothal is the dockyard.

(A) 1 and?2only (B) 3only

(C) 2and3only @ 122003

Which of the following statement/s is/are correct?

1) Portuguese were the first European power to establish maritime trade contacts with India.
2) Vasco da Gama landed at Calicut in 1498 AD.

3) Portuguese captured Goa from Bijapur in 1510 AD. _
(A) Onlyl1 (B) Only1and2

(C) Only2and3 D) 1,2and3

Which of the following statement/s is/are correct?

1) Shalibhadra composed “Bharateshwar Bahubali”, the first literary work distinctly in Gujarati.

2) Narsimha Mehta represented the Vaishnava Bhakti movement in Gujarat.

3) Premananda Bhatta may be considered as the greatest poet of Gujarat of all times on account of the
enormous variety of literacy themes and forms in his works.

(A) Only2 (B) Only1and2

(C) Only2and3 @ 12:ana3

Which of the following statement/s is/are correct?

1) Misuse of Dastaks by the officials of East India Company was a major cause of hostilities which
culminated in the Battle of Plassey.

2) East India Company’s superior military forces caused the defeat of Siraj-ud-Daulah in the Battle

of Plassey.
3) Battle of Plassey made East India the dominant power of North and East India.
@ oy (B) Only2
(C) Only1and2 D) 1,2and3
Which of the following Mughal princes had served as Governor (Subedar) of Gujarat?
1) Murad 2) Shahjehan
3) Aurangzeb 4) Dara Shikoh
@ 1234 (B) Onlyl,2and4
(C) Only2and4 (D) Only 2,3 and 4
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207.

Which of the following Indian states with majority Muslim population expressed their desire to Sardar
Patel to join India, but the Sardar advised them to join Pakistan since he was a principled politician and
statesman?

. Kalat and Bahwalpur (B) Sindh and Jammu

(C) Bilaspur and Kalat (D)  Bahawalpur and Bhopal

Who among the following Governor-General of the English East India introduced the policy of neutrality
and non-intervention in the affairs of the Indian native states?

(A) Warren Hastings (B)  Lord Cornwallis

.Sir John Shore (D)  Lord Wellesley

Which of the following statement/s is/are correct?
1. Warren Hastings was the first Governor-General of Bengal.

2. Lord William Bentinck was the first Governor-General of India.
3. Lord Canning was the first Viceroy of India.

(A) Only1l (B) Only1and2
(C) Only3 @ 122043

Which of the following statements is/are correct regarding Ramosi Uprising?

(A) It was a tribal revolt led by Vasudev Balwant Phadke.

(B) It was against the British failure to take up anti-famine measures.
Both (A) and (B)

(D) Neither (A) nor (B)

Which of the following movements was started as a reaction to the partition of Bengal?

. Swadeshi Movement (B)  Save Bengal Movement

(C) Non Cooperation movement (D)  Free India Movement

The genealogical history of the Maitraka is known almost solely from their

(A) Coins . Copper plates

(C) Archaeological remains (D)  From the travels of Chinese pilgrims
Which of the following periodicals was started by Shyamji Krishna Verma for spreading his ideas?
(A) The Indian Economist . The Indian Sociologist

(C) The Indian Spectator (D)  The Indian Opinion

The mass resistance to income tax took place in which of the following cities in 1860?

(A) Pune . Surat

(C) Mumbai (D)  Pondicherry

Which of the following statement/s regarding Kutch is/are correct?
(A) Kutch became a C class state when the Constitution of India came into force.
(B) It became a district when Bombay State came into existence.
Both (A) and (B)
(D) Neither (A) nor (B)

According to , certain functions of the provincial government were to be transferred, while other
subjects were to be kept as reserved for bureaucratic control.

. Diarchy (B)  Separate electorates
(C) Communal Award (D)  Bicameral legislature

Which of the following works tells us about the succession of Chandragupta I to the throne?
(A) Devichandraguptam . Kaumudi Mahotsava
(C) Mrichchhakatika (D)  None of the above
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Who among the following was the first to describe Sudras as a class of agriculturists?

(A) Manu (B) Fa-Hien

. Hiuen Tsang (D) Narad

Under which Peshwa’s rule Marathas attacked Bengal?

(A) Balaji Vishwanath (B) BajiRaol
Balaji Baji Rao (D)  Raghoji Bhonsle

Who among the following organized the East India Association in London to mobilize public opinion for
Indian welfare?

(A) Anandmohan Bose (B)  Bhikaji Cama

. Dadabhai Naoroji (D)  Surendranath Banerjee
Who among the following organized the sensational Barrah Dacoity ?

(A) Barindra Ghosh (B)  Praful Chaki

@ rulin Behari Das (D)  Khudiram Bose

The Anarchical and Revolutionary Crime Act 1919 was popularly known as the
@ rowiatt Act (B)  Pitt's India Act

(C) Indian Arms Act (D) Ilbert Bill

Who headed the interim cabinet formed in 1946?

(A) Rajendra Prasad . Jawaharlal Nehru

(C) Sardar Vallabhbhai Patel (D) Rajagopalachari
During the Indian Freedom Struggle who of the following raised an army called “Free Indian Legion”?
(A) Lala Hardayal (B)  Rash Behari Bose

. Subhash Chandra Bose (D) VD Savarkar

Which of the following pair/s is/are correctly matched?

Women Organisations Objective

1) All Bengal Women’s Union : worked for legislation against illicit trafficking of Women
2) Bharat Stree Mahamandal : promoted women’s education

3) Bangiya Nari Samaj : campaigned for women’s voting rights

@ 122043 (B) 1and3only

(C) 2 and3only (D) 1only

Aruna Asaf Ali was associated with which one of the following?

(A) Bardoli Satyagarha . Quit India Movement
(C) Civil Disobedience Movement (D) Khilafat Movement

Which of the following regarding Lucknow Pact (1916) is NOT true?
(A) Moderates and extremist factions of Indian National Congress buried their differences.

(B) Congress and Muslim League offered a joint scheme for constitutional reforms with the objective of
representative government and dominion status for India.

(C) Congress accepted the principle of separate electorate.
None of the above

Which of the following statements regarding Quit India Movement in Gujarat is NOT true?
(A) The movement started in cities of Ahmedabad and Baroda.
(B) In Ahmedabad a parallel ‘Azad Government’ was formed.

No revenue campaigns started in various parts of the state.

(D) In Bharuch, Surat and Navsari, there was rural unity across caste and class lines and British rule, as
a result disappeared for a while.
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Which of the following pairs are correctly matched ?

1) Champaran Satyagraha - Rajendra Prasad

2) Kheda Satyagraha - Vallabhbhai Patel

3) Ahmedabad Mill Workers Association -Morarji Desai

4) Poona Pact- B. R. Ambedkar

(A) Only1and?2 (B) Only1,2and3 (C) Only2and3 . Only 1, 2 and 4

Which of the following cricketer was appointed as first non-British president of Marylebone Cricket Club
(MCC) recently?

(A) Sachin Tendulkar . Kumara Sangakkara

(C) Brian Lara (D)  Shane Warne

Recently Indian Navy undertook group sail exercise in South China Sea along with countries.
Philippines, Japan and USA (B) Japan, Vietnam, and USA

(C) Japan, China and USA (D)  China, Vietnam, and USA

To which of the following countries did India deliver two Mi-24 helicopters recently?
(A) Nepal @ Afchanistan (C)  SriLanka (D) Iran

Which of the following statements are correct regarding the newly introduced “Merit Based Immigration
System” by Donald Trump?

1. Under the new plan 57% of the proportion of green cards will be given to people with skills.
2. Presently the merit base green cards issuance is 12%
3. Immigrants are required to learn English and pass a civic exam prior to admission.
(A) 1 and2 only (B) 2 and3only
1,2 and 3 (D) 1and3only
Central Government has issued a “Drought Advisory” to six States. Which of the following is NOT in this list?
(A) Maharashtra and Gujarat (B)  Andhra Pradesh and Telangana
(C) Tamil Nadu and Karnataka . Rajasthan and Madhya Pradesh

President Ramnath Kovind released NIRF and ARIIA rankings 2019 recently. These ranks related
to .

(A) Bank . Academic Institutions

(C) Mutual Funds (D)  Financial Institutions

According to World Economic Outlook (WEQ) report, India’s growth rate is to increase from 7.3% in 2019
to in 2020.

@ 5% B)  79% (C) 8.0% D) 85%

Who among the following was awarded with Russia’s “Order of Saint Andrew the Apostle” for promoting
bilateral relations?

(A) Sushma Swaraj (B)  Venkaiah Naidu
Narendra Modi (D) S Jaishanker

Which of the following techology MNC joined hands with Tata Trust to rejuvenate handloom clusters
in India?
(A) Google @ Microsoft (C) IBM (D)  All of the above

Which of the following countries released a stamp with the theme of Ramayana at the 70th anniversary of
diplomatic ties between the two countries?

(A) SriLanka (B)  Malaysia @ 1ndonesia (D)  Thailand

In which of the following two banks Reserve Bank of India divested the entire stake of these banks to the
Central Government recently?

National Housing Bank and NABARD (B) NABARD and Bandhan Bank
(C) National Housing Bank and IDBI (D)  None of the above
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3. yedl A Badru Ay yedl Aasid “od adlaeui Avsdl wHl guld AHald” (32 2Qdlf si2
wsAAA S uodls 2133 -H1291) 2iucumi 2ud 9.

(A) 551 @ 51212 (€ 1,213 (D)  §5d1243

AYsa AL gL AYSd A2 2l (Ran) il ......... Hi Al tionadl 150 Gudld i Slud”’ A duii-l
Adl A “UICA WS AR Y AUFUNT U .

(A) a4 @ :Eoyen ©) Bud D) Wl

B ARHL HAURL SRAUHL 2Ud el BuAst uoid 1A U sy [ wig © ?
(A) a1 sl uan Guas 9.

B)  Awdl Ae-1 twadl uau Guas ¢,

@ Guisd vin Guadl ISRO 2l RslaiEll nAuRL smi Ui sdi.
D)  BuAsA UA 1S el

auRd-lL [A2ell suoidiqi Honad Wnauni S<S-ufiEs [Qeuo Qled sul 6 d susid NA-w WA 5y / sui [Qaq /

(At 02 /i 8 ?

1. S<si-UfaEs [Qeuanl 2uga asm 13 Higl g1 2018 Wi U sl 2uddl S=si-ulalEs Alldd
YA SR 20Ul €.

2. Sesi-Ulals 5 uivt S+flun 2ifAuq Au AAAAU IORA), ASEAN @44 4 513 (QUAD)A (A 53 9.

3. YA A ddRME d- URES sHms A oledlA S<s-URB s s vy 8.

(A) 551 (B) S$5d1u43 (C) 5542443 @ 1223

Rddl nan 2zl Ad Qs 53l 214 [Asmaami suddl aioll A Aor-ai-ls 5 Rnda, “Reda’d

ABARUL AS0 U SN 20 8. 2 ouoad DA UL sy / sui (A / [Qa-dl 09 /i 6 ?

1. [Reda B84 1000 3.0 2000204 379 4214 € 249 uRHR, AR0HAL (A83) Al 300 (5.0, 34
AAAHAL (lE3) ad ¥ a3 9.

2. [Ruda o asssianll Rudd ad 8 ¢ 2isazs e qeiied) (ASL) it [Asaiaani 2uda qdls
Hi2R opr2rel Aalaq ©.

3. deoilE il 2eige 2P wd us 53 A3 O A 2cid 2ied SRilua Adldia ueald g welg R 8.

@ 1223 (B) 551243 (C) $%d2 D) 851
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231.

232,

233.

234.

23s.

236.

237.

238.

Ministry of Defence, Government of India is setting up three new tri-service agencies, they are
Defence Cyber Agency, Defence Space Agency and Special Forces Agency

(B) Defence Space Agency, Defence Geography Agency and Defence Food Agency

(C) Defence Cyber Agency, Defence Food Agency and Special Forces Agency

(D) Defence Nature Agency, Defence Food Agency and Special Community Agency

Indian Council of Medical Research (ICMR) launched MERA India programme to eliminate
disease.
(A) Measles (B)  Mental pressure

Malaria (D) Myopia

Indian Navy has launched its third guided missile destroyer INS Imphal recently. Which of the following
two are earlier ones?

(A) INS Vadodara and INS Agartala (B) INS Thane and INS Jhansi

(C) INS Rohtak and INS Jodhpur . INS Visakhapatnam and INS Marmugao

Recently the Civil Services Day was not observed due to general elections in the country. Which of the

following statements is/ are correct regarding to Civil Service Day in India?

1. The Civil Services Day is observed on 215t April of every year.

2. Civil Services Day is observed on this day as it was on this day Sardar Vallabhbhai Patel, addressed
the first batch of civil servants in Independent India.

3. On the Civil Services Day, ‘President Award for Excellence in Public Administration’ is given to civil
servants.

(A) 1only @ i1:nd2ony

(C) 1,2,and3 (D) 1 and 3 only

150 Indian peacekeepers serving with the UN Mission in were honoured with “Medals of Honour”

by the United Nations for their service.

(A)  Yemen @ south sudan

(C) Dijibouti (D) Slovakia

Which of the following statements is incorrect regarding recently launched satellites?
(A) Raavana-1 is Sri Lanka’s first satellite
(B) Nepalisat-1 is Nepal’s first satellite
The above two satellites were launched from Sriharikota of ISRO
(D) None of the above

The Ministry of External Affairs of India has set up an Indo-Pacific division in the ministry. In this regard
which of the following statement/s is/are correct?

1. The Indo-Pacific division is intended to give a coherent architecture to the Indo-Pacific policy
articulated by PM Narendra Modi in 2018.

2. The Indo-Pacific Wing integrates the Indian Ocean Rim Association (IORA), ASEAN region and the

QUAD.
3. USA has recently renamed its Pacific Command to the Indo-Pacific Command.
(A) 1only (B) 1 and 3 only
(C) 2 and3only @ 122043

India’s first indigenously designed and developed long-range sub-sonic cruise missile ‘Nirbhay’ was

successfully test fired recently. In this regard which of the following statement/s is/are correct?

1. Nirbhay Missile has an operational range of 1000 km and can carry warheads of up to 300 kg
including nuclear warheads.

2. The missile has a two-stage missile powered by solid rocket motor booster developed by Advanced
Systems Laboratory (ASL).

3. It can travel with a turbofan or turbojet engine and is guided by a highly advanced inertial navigation
system.

. 1,2 and 3 (B) 2 and 3 only (C) 2only (D) 1 only
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242.
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246.

247.

248.

249.

250.

251.

guld A1-ua silde gL drgaui dl2 uRalR (Veer Parivar) 24 213 $aUHE 2ey, 20 2y A1 U4 s uaia
Ul 1 Aol qAd ¢ ?

(A) BSF @ crer (C) RAF D)  Gu A S
AWNA= sl Ygrl 754 ol weudl. sil8ug 2u ys .......... L2 R Q23 9y 8.

A) .3 A ol @) awtaigdd @) 3.3 2 oun D)  GuAsA WS 4 Al

[Qrni D21 WA 50122 5G H2as uan a3 sy ?

@ -Gk (B) u © [Rouy D) 3431
ABARML HIRAA ... gl (AR 2uHAU UdAS S5 uRcudll woll €.

A)  Awun @ ik ©) waln (D) =
AR dRHi DA W s wes sne (22uLls) @uiaslsa S-3aq (GI) wd 2y © ?

A)  zuad (B)  asiexl @ :wvua (D) e
A%AA 5% U1 3000 520l A4 SAEC Sl [Aarw s34 69, 2 42 .......... 1 qodl 8.

(A) 2l caaza 38 @ -l grard aun

©  ANyA 20él8oNua S2ellog-n (D) UM YIAHAL

AEU AL AL AUIR, AiRS[AS AUEI-UELA 27 25UAIDAL AUEIA-UEIAL WS HI AU &l Aeu-a-
24 sl Ul A WS suL 2ol d-L Aeu €9 ?

1. ®IRd 2. o A S=siafi
3. Aldstaq A 4. olidAISY A AW
(A)  $5d1 24 @ 51203 (C) $5d2,324 D)  S$5d1413

-

.......... BuR YU 2 5[Fd s WA ABAME 2019+ Wi [As11 H8aua usUAd wul gdl.
@ ruwa B) sunlas ©) Huabaska D)  Awud

(8+g wsngiia cuadl wendlsl qeusia Hi-l uaroll il a3 da 5iRs12 v el euid wlddi
AR HYR 530 8. 2L ouotd DA WS 53 / sui [ / [l 0y /i 6 ?

1. wRendls wlEan o120 8su-il sU2HR [ArauHi 2udy .

2. Rerflen 18 wsiafsadlél uaan “Heit alsadlsl” W 2s adls yyani »ud 8.

3. edlarel sUEHA Ulldiu gnedl .

4. dyau el 3R 2udg 8.

@ ss4 (B) s5d2u4 ©) 1,2,3u4 (D) 552313
sAle HEl- 1A 21-ofle WS vild-ll MRl SIMEIRL UR Sl2sald 2udly 530 &4l sl giaellzitl
BULAH] GILALAAL HIZ IR GIRL UL ARIGD ... 18 1A HRAMI 2,

@ e B)  usuRd (C) Awn (D) Sdir

A2 WAL s 2ol AUz AlgdHE v 9Run waen sii@unHl i s34 ?

A) 313l (B) YA

@ :: D) GuASAAA A )

A ARUL HIRA A ... a2l wuuHdl Aol @gsdl saud yel as.

(A)  Aun (B) il @ icaza D)  Ads
ABARHL MR A8l dusdl .......... Hi 28 A5 [AHgs 5120 AR Sdi.

@ uoraol iy dlu 2ol B) Auna A Qoyra

(€ Wl smiy, 9l Aeuq D) Ha 56[Rua s SR
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246.

247.

248.

249.

250.

251.

The recently launched app, Veer Parivar by President Ramnath Kovind is related to which of the following
armed forces?

(A) BSF @ crer (C) RAF (D)  None of the above
Nagaland has observed 75th anniversary of Battle of Kohima. This battle of Kohima took place between
and .
(A) UK and Germany (B) Japan and Germany
UK and Japan (D)  None of the above

Which of the following countries is the first one to implement SG network in the world?
South Korea (B) Japan (C) Singapore (D) Canada

Recently India has received the permission to access the Lithium reserves in .
(A) Nepal @ Boivia (C) Maldives (D)  Ghana

Which of the following regional Haldi (turmeric) received Geographical Indication (GI) recently?
(A) Amaravati (B)  Vadodara @ «xandhamal (D)  Nanded

The Central Government of India has distributed more than 3000 SAEC Kkits to the states, these Kkits are
related to .

(A) Disaster Management Radio . Sexual Assault Investigation

(C)  Security Artificial Intelligence (D)  Surveillance Accessibility

Asian Tea Alliance was formed to promote tea trade, cultural exchange and technology exchange among the
member-countries. Which of the following countries are members in it?

1. India 2. Japan and Indonesia
3. Sri Lanka and China 4. Bangladesh and Nepal
(A) 1and4only @ 12200300y

(C) 2,3 and 4 only (D) 1and3only

The 2019 Human development report was published recently with main focus on
. Inequality (B)  Child Development
(C) Women Empowerment (D) Employment

Pakistan government has approved a proposal to establish a corridor which would allow Hindu pilgrims
from India to visit Sharada Peeth. In this regard which of the following statement/s is/are correct?

1. The Sharada Peeth is located in the region of Pakistan Occupied Kashmir

2. Sharada Peeth is also revered as one of 18 Maha Shakti Peethas, or “Grand Shakti Peethas”.

3. Goddess Sharada is the Kuldevi of Kashmiri pandits.

4. It is located on the banks of river Jhelum.

. 4 only (B) 2 and4 only
©) 1,2,3and4 (D) 2 and3only

India carried out Operation Sunrise to wipe out the insurgent camps planning to hit the Indian workers at
the Kaladan Multi-Modal Transit project along with

Myanmar (B)  Afghanistan
(C) Nepal (D) Bhutan
Which of the following countries’ army has announced a specialised infantry Gurkha Battalion recently?
(A) Canada (B) USA . UK (D)  None of the above
The recently concluded Mainamati Maitree military exercise was between India and
(A) Nepal (B) Bhutan

Bangladesh (D)  SriLanka

Bhagwan Lal Sahni was in news recently for his appointment as Chairman of
National Commission for Backward Classes (B)  National Green Tribunal
(C) Rashtriya Kamdhenu Vriddhi Samstan (D)  Press Council of India

PSP — MASTER] 49 [P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


252.

253.

254.

255.

256.

257.

258.

259.

260.

261.

262.

uAH A34 Aslg [ drdly e .......... UG AHA s 2ual.
@ i1y ®B)  yu o 18
(C)  AMYR AU~ 16 (D) s 3dlen 20

Bea -uRnsla adl 2018-194i A4 [A220 s (FDHHL UAH s4-U lld 45 A1 WS su1 29 WiRRuu 2
Qg e ?

A) 3. B) YA, @ Gouy D) A
Bl el AASUOUS SINS SASHAS AidAIA SAUSHAS dLLSL £ Uikl QAL 6. 2L S HAS
.......... vid 20dg 8.
(A) g3 @ <=
(©)  GanyR D) ANAYR
iR e st wellAAsiaunl g dHl Bl Yoy 2 % FIRARLvsHA .......... S, / Sdl.
A) ol Rsiun st (B) 2WsY3
© Ruiuidwa @ i
2y 16l oL A% HelauMi 2udai Alus g4 [Bau-l (ddieia [es 3) [Qua .......... 9.
@ s Bes: g Aadd B) {5 Ries : a3 Aadl A2
(©) Qs [es: 2l I de D)  {Ivs [es : widse Al Aes
ARA AW A AU BoAA (NSSO) HFAIR MR €2 10,000 ALSIA .......... AuALUL AURLY, SIS 42D 69,
(A) 306 @ 20 (©) 101 (D) 27
A2 WAL e 3 dlrHas dBdHE AR aud 6UE Yotz AYLRIUL SR 2y 6 ?
SL5AUR 2Ralsa dlorHas - ylRe-1 B) yawra dlyHas
(C) GBS ada dlynus D)  sswudlynas

A2 W MR $U A% Sl UEUR HeY a1 WS [Auni AL NAH avid Geuo duiR alo- - S[Raq 280
244 - ETSH 2uellsm 5291 ?

(A) U8R B) [l

@ o D) [Ber

-\

IOCL, BPCL ¥+ HPCL -l 2iy5c 14+l 24 [z Alel) qiofl [asdlsisd s Ugidlum sia (LPG) Dl wSuais -l
QWAL .......... ) I s 2 4 69,

@ :adoiuy @B) [RooisS ol Bedl
(©)  5.9. 6l 9l [2ed) D)  sagE Yol

i 91SAUHL, HAY Ad 5L Gl €9, UL d AR Fedl GAL Al wUd Us sl GAL 9 U A% Sl
At 69, di N A sul [Qsey a4 ?

A)  uguAidl Gui 6.

(B)  u-llor st s Gl 9.

@ i wia s A8,

(D) ARid 2AAdl us s i Al e,

A2 2uia [aseul U4 sui [Qseu il 4l ?

(A) 63 ddl aiR Avazii-l A4, d W8 sidunt Avel 20690 A SIS us

B) A 58 vl 6l SIS Avai-l Aauq 1Y, dl d WAL HIEL AvaL o AL @.aL Sl D,
(©) ol 2lAcuoy AvA12A-AL QAL SHAL AHAL ARUSIR % S 8.

@ o3 Al awl vz oL d WA siSua vl 2l 14 €S 23
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The first Rafale combat aircraft would be inducted in the squadron of Indian Air Force.
. Golden Arrows 17 (B)  Super Springs 18
(C) Jodhpur Giants 16 (D) Diamond Devils 20

Which of the following countries replaced the Mauritius to become the top source of Foreign Direct
Investment (FDI) flow in the last fiscal year 2018-19?

(A) UAE B) USA

. Singapore (D)  China

Devi Ahilya Bhai Holkar Airport of India has received the status of International Airport recently.
This airport is located at

(A) Nanded . Indore

(C) Uddhampur (D) Raipur

Binny died at Odisha Nandan Kanan Zoo recently. It was the only in India.

(A) Two horn Rhino (B)  Ostrich

(C) Hippopotamus . Orangutan

The theme of Global Milk Day celebrated on 15t June this year is .

. Drink Milk: Today and Everyday (B)  Drink Milk: Everyday Everywhere

(C) Drink Milk: Everyday Health (D) Drink Milk: Protect Yourself

According to National Sample Survey Organization (NSSO) India has number of health workers
per 10,000 people.

(A) 306 @ 204

© 101 D) 27

Which of the following power stations of Gujarat once again got fully operational after three years recently ?
. Kakrapar Atomic Power Station - Unit-1 (B) Dhuvaran Power Station

(C) Ukai Thermal Power Station (D) Kadana Power Station

Which of the following states of India would implement the world’s first Emission Trading Scheme (ETS) to
control air-pollution ?

(A) Maharashtra (B)  Delhi
. Gujarat (D) Bihar
IOCL, BPCL and HPCL have formed a joint venture to establish world’s longest Liquefied Petroleum Gas
(LPG) pipeline from to .
Kandla to Gorakpur (B)  Digboi to Delhi
(C) K. G. Basin to Delhi (D) Kanyakumari to Mumbai

Among five boys, Manoj is taller than Vasant, but not as tall as Rajesh. Jayant is taller than Prakash but
shorter than Manoj. Then which of the following option is not true?

(A) Rajesh is the tallest

(B) Manoj is taller than Prakash

. Jayant is shorter than Vasant

(D) Either Vasant or Prakash is shortest among all

Which of the following option is NOT true?

(A) The L.C.M. of two or more numbers cannot be less than any one of them.

(B) If a number is the factor of another number, their L.C.M. is the greater number itself.
(C) The L.C.M. of two prime numbers is always their product

. The H.C.F. of two or more numbers cannot be less than any one of them.
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264.

265.

266.

267.

268.

269.
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273.

(7+210)  (7-2710) o @iy :
A) 33 B) 9
© 23 @ GwuILASE

9 Sainiell 8 UlZduil du-l Gl 2 Wengls 3u. 30 v 53 6. Aal uldd 31 18 Al W 53 €. 24 g
[Favtinl A2 WA Sedl w9l ?

(A)  3L.28.66 (B) 3.31.22

@ D) Guu A A 1l

P -l @+ 8 4 ud L AUl 8al. -l eied-l GHR d-l o qHu-dl BHR 524l 120% F2dl 9. d-il @+ AHA A ol
drll 5L GHHUL 10 ad -l edl. dl d-)l sién-l il Gu: sedl 89l ?

@ s ®B) 42

(C) 48y D) Guu W4 56 1l
s eflu avui 1 dl Ayl A% AHUR i dl 1¢fl A - Ao sl R ¢9l ?

(A)  AHAR (B) Hamar

@ asua (D) GuWRUULES

-

25 Y2ellui g ARAA HALRL UL 75% HALIRL HAEL 52 8, % WL 2% Hd € MSR SUML 2Ud 6. 25 GHeaAR
9261 Hl HNA €9, % §& HIU Hellrll 75% B2 9. dl d Y2ellui $& 52e HALIRL HlaaL sl ?

(A) 16200 @ 16300

(C) 18600 D) Buu U4 56 1l

W

15 512 70 [BHl/sausD »3u old a3 53 9. ol d-l »3u €2 2 saus oug 10 (330l /seus P24l audl sy, dl 345
(3.4l 2id2 studL d- s2dl aHu QR ?

A)  2sas30 @M B) 3 sas30[@He

@ +:as30@Re D)  Gu U4 A Al

215 254 6 AN M2 ALEL AU ALs5U € Ysaell dHi 60% P2l AHIRL A B, 2L % %L € 3L. 15,000 1 3 Al
w5g(B ey 524 agl ?

(A)  3L4,975 (B) 34,955

(C)  3..4,765 @ GcwruiLaSqd

seen 3[R cwlls grell 2 ami Ysaa Wi 3L 1025 o 24 5% Asal®4 cuor-u 3 ysdl agiel ?
(A)  3L.550.25 (B)  3L.512.50

@ 35525 D)  Gu U4 & ]

P % Q sl »3udl A 8. e35 w1 24 (5.4l B2g A4 ©. dn-l 33u-l ural 7 (341 /58 21 dud Qldl
AU AUV 14 sA5 8. dL Pl 353U -

A)  3BA/sas @ «GAsas
© 42058 D) Guu W4 56 4l

25 11 Aol (332 -l 3 26 QuiHL 6 24 (@52 AuR d-ull 3 av Hiel 8. % d eid-0l GHR oug saUHi 214 dl
oSl AU #3192 GUR vl AuDl w3202 GHR el 1 a2l 2wy 69, dl puvll Au-dl uia Gu sedl ual ?
@ s (B) 24aM

(©) 25ad D) 6GuAA 51 Al

s [Bauui allun-u sas 214 AR siel sedl R visisR au e ?

é = (B) 23

(©) 24 D) Gu i s dl
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Square root of (7+2\10)  (7-2V10) is :
A) 33 ®B) 9
C© 243 . None of the above

Out of 9 persons, 8 persons spent Rs. 30 each for their meals. The 9th person spends Rs. 18 more. What will
be the average expenditure of these nine persons?

(A) Rs. 28.66 (B) Rs.31.22

@ rs32 (D)  None of the above

P got married 8 years ago. His present age is 120% that of his age at the time of his marriage. His sister was
10 years younger to him at the time of his marriage. What is the present age of his sister?

. 38 years (B) 42 years
(C) 48years (D) None of the above
In a leap year if 15t of January falls on Monday, what day of the week will be on 18t May?
(A) Monday (B)  Tuesday
Wednesday (D)  None of the above

In an election 75% of total enrolled voters cast their votes, out of which 2% of the votes declared invalid.
A candidate got 9261 votes which were 75% of the total valid votes. What is the total number of voters
enrolled in that election?

(A) 16200 @ 16800
(C) 18600 (D)  None of the above

A car starts with a speed of 70 kms/hour. If its speed increases by 10 kms/hour after every 2 hours, how
many hours will it take to cover 345 kms?

(A) 2 hours 30 minutes (B) 3 hours 30 minutes
. 4 hours 30 minutes (D) None of the above

There is a 60% increase in an amount in 6 years at certain rate of interest of simple interest. What will be
the compound interest of Rs. 15000 after 3 years at same rate of interest?

(A) Rs. 4975 (B)  Rs. 4950

(C) Rs.4765 @ None of the above

What annual payment will discharge a debt of Rs. 1025 due in 2 years at the rate of 5% Compound Interest?
(A) Rs.550.25 (B) Rs.512.50

. Rs. 551.25 (D) None of the above

P walks faster than Q. Each of them walk 24 kms. The sum of their speeds is 7 km/hr and sum of time taken
by them is 14 hours. Then P’s speed is

(A) 3 km/hr @ +xunr
(C) 4.2 km/hr (D) None of the above

The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older than
him. If the ages of these two are excluded, the average age of the remaining players is one year less than the
average age of the whole team. What is the average age of whole team?

. 23 years (B) 24 years

(C) 2Syears (D)  None of the above

How many times hour and minute hands of a clock coincide in a day?

é » B) 23

©) 24 (D)  None of the above
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2717.

278.

279.

280.

281.

282.

Y Y

s al3uin 3 ARz 5 573 20910 %2 € 2 d= AU 8 ASL AL AHA HONQAHT 209 8., dl d [2ad g3 10 w9l
d 5l AN vidlad 82l ?

(A) 10:21:20 @ 10:23:2

(C) 10:23:40 D) GudA 5 Al

10 §4203), 1979 L A% 5l AR &l ?

A  Ysar B) faar

(€) Hamar @ Gwruidasd
1 9l 70 YA AvarAl WA FH- ol el 15 1 ¢la HUd) Avuil Seanen & ?
A)  15% @ 2%

© 27% D) Gu U4 8IS Al

AL

A1 2 AR HOLAL Uesl 3L 150+ 25 A2 3 105HE HAL 9. %A 61l ANAR 12.5% SIU dl Uy ANdR 52¢ ¢ ?
A)  17.5% (B) 18%
@ 0% M) GwuAA S 1l

M 3L 6.40 WA (@221 ¢ud g4 wdle ©. uRoe d dni well Gl »u s 31 8 uld [@22-u eud 42l 2u Ad
37.5% 51 WNd 8. dl 21 Faranl wesll 241 g w524 el ?

@ o B) 1:15

(© 120 D) Buu U4 56 1l

A\ =\

by Y A Y a Y 18 N A, Y . Y Y
25 2uBs dwidl izt az--l Gualal s30 Ul [3el 6 55 % sl Hd 8. dl d 53 4%+ GualoL sl ¢l ?
@ s0um (B) 947 WA
(C) 953 wH D) GuAA 51 Al

Y

25 unony sial uRRA € Al gl dl d siag dasa see a9 ?
A) Ve A.ad @B) 3u.ad
(© 12AL.A @ Gcwuidas

A VA B 3L 900 W2 25 511 S UR A 8. A L 514 20 [Bauui 21 B 40 [Bauuiyg 53 a5 8. dil € -l weedl
d 514 8 [Bauui Y3 53 6. dl C A d-il dldLEl vied s2a 3 ysa-u 2 ?

(A)  3L.180 (B) 3L272
@ 3300 (D) Gu A A 4l
A giellni (7)) Al oourA 56 Ava 20l ?

2,325 O a5

@ ® 3

(©) _é M) Gu-u 4 5 Al
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274.

275.

276.

2717.

278.

279.

280.

281.

282.

A watch gains 5 seconds in 3 minutes and was set right at 8 AM. What time will it show at 10 PM on the

same day?
(A) 10:21:20 @ 10:23:2
(C) 10:23:40 (D) None of the above

What was the day on 10 February, 1979?
(A) Friday (B)  Sunday
(C) Tuesday . None of the above

What percentage of numbers from 1 to 70 have squares that end in the digit 1?
A)  15% @ 2%
©) 27% (D) None of the above

After getting two successive discounts a shirt with price of Rs. 150 is available at Rs. 105. If the second

discount is 12.5% what is the first discount?
A) 175% B) 18%
. 20% (D) None of the above

M purchases milk for Rs. 6.40 per litre. He then adds water and sells the mixture at Rs. 8 per litre, thereby

making 37.5% profit. The proportion of water to milk in such mixture is how much?

@ 1o B) 1:15

© 1:20 (D) None of the above

A dishonest seller uses a false weight and gains 6 % % profit per kg. What weight he uses?
. 940 grams (B) 947 grams

(C) 953 grams (D) None of the above

If the perimeter of a equilateral triangle is 6 cm, then the area of the triangle is
A) 6 cm? (B) 3cm?
(©) 12cm? . None of the above

A and B undertake to do a piece of work for Rs. 900. A can do it in 20 days and B can do it in 40 days. With
the help of C, they finish it in 8 days. How much should C be paid for his contribution?

(A) Rs. 180 (B) Rs.272

. Rs. 360 (D) None of the above

Which number will come in the place of (?) in following series?

2,11(?)L

28 128
1 1
@ ® 5
<o - 61_4 (D)  None of the above
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283.  is AIBlAS cusHl “min jo par se” -l ¥l “get me a pen” ; “jo se hon pe” Al 242 “get a big hammer” ; “min
wo sot” -l 218 “pen and pencil”. dl pen -l A3d sul 831 ?
A) Jjo (B) sot
@ i D)  Gu UL S

Y (284901287 w2 [Ag9) : £35 uani 245 U 24 ol [Qtunl (1) 29 (1) 2unUni e 89, axi 2 [Aela scuxl 9,
5 [Qa-timi suuami 2udd Wl dl e wsil raist 2uuai vald 9 3 541 7 dxiRl gaiel A Yool 2uul.

(A) % [Qsn (1) s 2utan usHl Aol 2L uaid 9.

B) A [An (1) 2sg 2uia Ul el 2udl uaid 8.

(©) A [Qan (1) 241 (A8t (1) o 08 2UNAL UL FAe! AL YRR €,

D) % [ @) 29 [t (1) 61 08 WL 2T AL UBLAL UL AL Y Al

284. P,Q,R,S A T UA siA Aiell 20 s noa ?
(D S UHSA 554 R A T ol 11691 69,
(D) Q i P $cdl A8IR WIS WAL 89,
A) [ 1) 2isg 2uta us-l gaiel 2uuaL uaid 9.
B) [ (1) visg 2uta Uil st 2uual vaid 9.
@ e ) 2 [Qae ) o 28 2ita usdl gt 2iud vaid 8.
D) (At @) 27 [Qans (1) et 08 WL 20 sl st 2udl vaid gl

285. A X R Y 6l [Mt ysl Sl 2R -l 2eus12 30 Sl dl X Heu s2¢ a9l ?
D) X5 21oH yals o,
a X>Y
A)  [Qan (1) xisg 2uta ugil st 2uualvaid 9.
B)  [Qan (1) 2is¢ 2uda uaql gt 2uudl uaid 8.
(©) (At (1) 24 (@t (11) e 18 UAL UL UL AU VAR 69,
@ e @) 2 Qe an e 2 e 2utien wasdl oaie 2uud vaid .

286.  uMid: 2elld 95 ue sY O ?
D el st &l UM UELHL AW 77 WA 69,
an  2efll-u oflonedl gL vgiHl AW 108 W €.
A)  [@Qan 1) 2sg 2uian us-l gaiel 2L uaid 9.
@ e an sy 2uien nal et 2uua uaid 8.
(©) (At (1) 2 [ (1) 61 18 2NUAL UL UL AU VAR 69,
D) (@ @) 24 [Qann (11 i 08 uRL 20 UBL AL UL YA Al

287.  saU3u-it s [2ad ulau wienddl 97
D udlan ArsHl vid (2ied AR 2«14 Adcr) Al airami sudl.
(D) AHAUR eus Ntz A1 oA wizglds ualel e ¢ia e,
A)  [Qan (1) 2isg, 2uden usiHl gas suua yuid 9.
B)  [Qam () 2isg 2utal usHl gaiet 2aua uald 6 |
(©)  [Qan (@) 2 (8 (1) et 018 2UUAL UKL UG BUUC YA 69,
@ et @) 2 Qs (1) o 08 Rt 2itar sl Fast 2iudl vai e,
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283.

284.

285.

286.

287.

In a certain code language “min jo par se” means “get me a pen” ; “jo se hon pe “ means “get a big hammer” ;
“min wo sot” means “ pen and pencil”. Then what is code for pen?

(A) Jjo (B) sot
. min (D) None of the above

(Directions for 284 to 287): Each question has a question and two statements (I ) and ( II ). You have
to decide, if the information given in the statements is sufficient to answer the question. Indicate your
answer as

(A) If statement (I) alone is sufficient to answer the question.
(B) If statement (II) alone is sufficient to answer the question.
(C) If statements (I) and (II) both together are sufficient to answer the question.

(D) If statements (I) and (II) both together are not sufficient to answer the question.

Who has secured less marks among P, Q, R, S & T ?

@ S has secured less marks than only R and T.

(I) Q secured more marks than P.

(A) Statement (I) alone is sufficient to answer the question.

(B) Statement (II) alone is sufficient to answer the question.

. Statements (I) and (IT) both together are sufficient to answer the question.
(D) Statements (I) and (II) both together are not sufficient to answer the question.

What is the value of X, if X and Y are two distinct integers and their product is 30?
@ X is an odd integer

a X>Y

(A) Statement (I) alone is sufficient to answer the question.

(B) Statement (II) alone is sufficient to answer the question.

(C) Statements (I) and (II) both together are sufficient to answer the question.
. Statements (I) and (II) both together are not sufficient to answer the question.

What is the 6th term of the Arithmetic sequence?

(I)  The sum of the 6th to the 12th term of the sequence is 77.

(II') The sum of the 20d ¢ the 10th term of the sequence is 108.

(A) Statement (I) alone is sufficient to answer the question.

. Statement (II) alone is sufficient to answer the question.

(C) Statements (I) and ( II ) both together are sufficient to answer the question.
(D) Statements (I) and ( II ) both together are not sufficient to answer the question.

On which day of the week Exam is scheduled?

@D Exam is not scheduled on weekends (i.e Saturday and Sunday)

(II) Monday is for outdoor activities and Wednesday is for Cultural activity

(A) Statement (I) alone is sufficient to answer the question.

(B) Statement (II) alone is sufficient to answer the question.

(C) Statements (I) and (II) both together are sufficient to answer the question.
. Statements (I) and (II) both together are not sufficient to answer the question.
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288.

289.

290.

291.

292.

293.

294.

295.

600 (-l s Yausdui vRie st 5120 [Ax €1y scumi 20d 8. 21 du e d-l w32 #3U 200
(5all/seus @edl aasaumi 2ud 6, B4 5128 Geur-ll una 30 MRz Fadl adl 2u ©. dl Yo s Yasd-d uny
sedl el ?

@ s (B) 1558

(C) 255 D) GuAA 51 Al

2 HIRLAL 24 3 6915 15 $1H 10 [Bami d2al 3 HISLAL 247 2 6915011 d % s14 8 [Baumi 53 69, dl 2 Rl A
1691530 A 514 S2e [Bauui yg 429l ?

A  12[2an B) 13[2an

©) 14Raxn @ Gcwuiaas dl

NN e A

oAl 6] AvABAAL JYRUSIR S ALV 2AYsH 4107 S 37 1A, dl WA vl 56 82l ?

(A) 259 (B) 185
@ (D) GuWRUULES
7507 “UHi Al 56 v a3 opRianell d yel o1 8 ?

(A) 24 @ s

<© 48 D) 60

(2722 - 1282) f iy :
(A) 144 (B) 200
@ 240 D)  Guu A4 A )

Bua sl : (@1 +3-1) + 6‘2)><%
(A)

@

D) Buu U4 56 1l

I

©

D | bk

215 €A 2531 40 A3l @ioil 9. A 3 25312041 stucuMi 2ud 9. All @ioll 25381 HEUH GoUSHL 2531 L 3 2101
8 1 Al 251 2531 Akl aion 2531 sc1 23 AL 241690 . dl Alell E1 2531 o sedfl el ?

A 73dl B) 5l

@ 3 D) Gu U4 &I <l

5 12cm x 15cm x 18 em -l Q61EA 6aAls STl AL55U AvALAL AU AHEUA SLULAUHE 20 89, dl 2Ucll AHEAH]
ULEIHL 245 Aol ...,

(A) 60 @

(©) 180 D) Buu U4 56 1l

PSP — MASTER] 58 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


288.

289.

290.

291.

292.

293.

294.

295.

In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed for the trip was

reduced by 200 km/hr and due to that the time of flight increased by 30 minutes. What is the duration of

original flight?
@ 1nour (B) 1.5 hours
(C) 2 hours (D) None of the above

2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the same work in 8 days.

In how many days can 2 men and 1 boy finish the work?
(A) 12 days (B) 13 days
(C) 14 days . None of the above

If the product and H.C.F. of two numbers are 4107 and 37 respectively, then what is the greater number ?
(A) 259 B) 185
@ (D)  None of the above

The least number by which 750 should be multiplied, so that it becomes a perfect cube?

(A) 24 @ ;6
© 48 D) 60

The square root of (2722 - 1282) is ¢
(A) 144 B) 200
@ :0 (D)  None of the above

Find the value: (41 +3-1) + 6_2)x%

1
A 3 @
1
<) 2 (D) None of the above

A piece of string is 40 cm long. It is cut into 3 pieces. The longest piece is 3 times as long as the middle-sized

piece & the shortest piece is 23 cm shorter than the longest piece. How much is the length of the shortest

piece?
(A) 7cm B) Scm
. 4 cm (D)  None of the above

A rectangular block of 12cm x 15¢m % 18 cm is cut into an exact number of equal cubes, then least possible

number of such cubes is

(A) 60 @
(C) 180 (D)  None of the above
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296.

297.

298.

299.

300.

A [Qaudl 2uq al.

a1 : N A AR sunsl 6,

gy 2 : o) sunsidl stivil cauguil © 214 6 spuasidl wivil s2as .

gy 3 : ounsi Ul w34 e9isLll 69,

ol ARl (Al dza St di A U4l sau (-l Aissuusl ded 6.

L 2ol 24069 2is 91530 2tivil argod] 69,

I cunsi U4 ol e9isuil 8.

ML sl 2tivil 28 .

@ s (B)  $5d I III

(C) S5 IR 1T D)  GuL Y4 visud (At dey e

Srdga-l A8 uenami Aal gl Rugsl 2uasusdl 8, 3 Radl U 20HRd 8. W WAl T s A
UARL 9, UBL B 4l 4813 8. R WA W $cdl AU UARdL 9, UL T 52l 2L 8. T A 241 53 ASd) el al
OBl UGNOIAL AAdll A48 512 22 ?

@ r B) W

(C) B D) Guu U4l SIS 1l

D2 2uua HlRladl gas ikl

12,17,3,14,5,8,7, 15

A) 12 B) 15

© 17 @ GwuiLaS

215 531 U 50 UL 244 10 25 6. dudl2Al U9 €0 1200 [3Al 1 251 U212 £013000 (el 8. dl dAHIH 60
sl URAA N s2¢ U9l ?

(A) 1250 3l @ 150004

© 1750 [3al D) GuAA 51 Al

oSl 0L Sl 21401 usdl [Asey i,
@A) awld B) uanuRyld
@ ixla ®) AN @
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296.

297.

298.

299.

300.

Consider the following statements.

Fact 1: N has four children.

Fact 2: Two of the children have blue eyes and two of the children have brown eyes.

Fact 3: Half of the children are girls.

If all the three statements are facts, which of the following statements must also be a fact?

L. At least one girl has blue eyes.

1L Two of the children are boys.

III. The boys have brown eyes.

@ nouy (B)  Iand III only

(C) 1II and III only (D)  None of the statements is a fact.

The high school math department needs to appoint a new chairperson, which will be based on seniority. W
has less seniority than T, but more than B. R has more seniority than W, but less than T. T doesn’t want the

job. Who will be the new math department chairperson?

@ r B) W

) B (D)  None of the above

Find the mode for data given below:

12,17,3,14,5,8,7, 15

A) 12 B) 15

o 17 . None of the above

On a ferry, there are 50 cars and 10 trucks. The cars have an average mass of 1200 kg and the trucks have

an average mass of 3000 kg. What is the average mass of all 60 vehicles on the ferry?
(A) 1250 kg @ 500k
(C) 1750 kg (D)  None of the above

Choose the option which is different from other three.
(A) Yayati (B)  Pratham Pratisruti
. Geetanjali (D)  Manvini Bhavai
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